=orus/saun K320 ¢} lesn/polish



INOX - recommeded use

1.
2.
] N =
y A
[ |
AI%M A|Q£o4 AI%G
3. FACTORY 4.
W AI%G W Aisybi6
5.
’ INOX brushed INOX polish
=== - |
m S-Sﬁ05 AIS?316 AISI 304  AISI 316 AISI 304  AISI 316

/ recommend use

Vysvetlivky:
INOX AISI 304
- vhodny do prostredia bez chléru a oxidu siri¢itého.
INOX AISI 316
- vhodny do prostredia s vysokym obsahom chléru, oxidu siri¢itého,
vysokej vlhkosti, do primorskych regiénov a k bazénom.
==

Legend:
INOX AISI 304
- suitable for the environment without noticeable chlorine and
sulphur dioxide load.
INOX AISI 316
- suitable for the environment with a high degree of corrosion due to
chlorine or sulphur dioxide load, high humidity, coastal regions and
swimming pool environments.

don 't use 7 without
o Quarantee

| www.umakovshop.com
surface finish
ZAQI\?AK “ ZA@I;l)AK & ZA?AK $

- bruseny nerez - brus K320 () -WB - buk

© - lesteny nerez

- plast

- Satin - INOX grain K320
@ - polished INOX

@ - plastic

‘{5) - potrebné Upravy
()-WD -dub

AL - hlinnik

Fe - ocel

Fe (Zn) - zinkovana ocel

-WB - beech
()-WD - oak

AL - aluminium

L 5’)) - necessary moditification

Fe - steel

Fe (Zn) - galvanized steel

© pravo na technické a rozmerové zmeny vyhradené/ we reserve the right for technical specifications changes and changes of parameters




44

systems components
/‘ horizontal system - standard 2 crossbar holders
horizontal system 2 handrail brackets 50
baluster posts 6 Lo flush angles 58
| railing sets 7 LN end caps 64
wooden horizontal system 8 = spiral FLEX system 69
% wooden baluster posts Wood ... 10 9 flanges and base covers 70
%y’ wooden railing sets " = square system 76
.~ |cable system 12 FiAl accesories 80
vertical system 14 | gates, accessories 82
| dlass railing system - standard 16 @} applications 83
C glass clamps 84
5 baluster posts 85
L railing sets
profile glass railing 28
\ 4 point system 30
i spigot railing system 32
french balcony 34
glass system UMAKOV 35
handle system 36
glass canopies 40
ﬁ segment stairs 42
=brus/satin K320 €3 lesk/polish 07/13



horizontal system - standard

A/0718-242

2
A/5729-242
3 5
A/0302-242 A/0221-012 A/0830-042 A/0512-042
6 7
A/12x1,5 A/0302-012-S A/0940-042-N
07/13 =brus/satin K320 &3 lesk/polish




horizontal system - standard

) t D(mm

Quality

10 412 pa | 16

Al AISI304

7 7 B & | 5 B B
//“

m A/5732-242 A/5729-242 A/5730-242
co-- A/12x1,5 c--- A/42,4x2 ___A/0790-242 _ _A/0727-242§  A/0302-242

\ ' ’
\
h l
' \

A/GLUE-50g A/spray-WS A/cl 500ml

T
|
|
|
i -1
\ | |

A10/0015-012-A | ' '

'
'

i '
g%/ v \ I
\ \ 1
! ' '
\

\\max. 1500rﬁwm

< A-DIN 7380-A2 M5x12.

A/0221-012

&
K

A/0718-242

A-DIN 7991-A2 M5x16
ADINES A NOX e

---A-DIN 7991-A2 M5x16

\
A/0830-042 !
| left
\
A-DIN 7991-A2 M5x16 \
! . "1  A/0832-042
h S N
I ~ A
ll ° > ~ N
right ; L el S
|f% YQJ o *~. ADIN 1587-A2 M10
A/0833-042 .
A/0302-012-S
A/0942-242 ﬂ A A6/004-6 A-DIN 975 M10
A/0012-012 \”’%
A6/90x42x13-S I = | o
e A/0512-042 1N \ — .
A-DIN 934 M8 A-DIN 934 M10 \ oy ] *\_'A-DIN 1587-A2 M10
A6/021-6-A A-DIN 975 M10
A6/85x42x6-S  ADIN975M8 A/0940-042-N A-DIN975M10 | A-VR90-4D12 A-BR9O-4D12 A/5729-242

\ handle system - standard

e

L d

A/0504-042

A/0505-042

| T S 1
JE S A9/42  A/0739-242S

| N B @ @ & &
| o

"

'A/0708-042-B A/42,4x2

A/0625-042 A/0111-042 A/0112-042

A/0312-242 A/0302-242 A/0305-242 A/0303-242 A/0301-242-S

=brus/satin K320 &3 lesk/polish 0713




horizontal system - standard
(mm) t D(mm
12 14 16 40x40 Al AISI304
&) &
v
A/GLUE-50g A/spray-WS A/cleaner-500ml
m A/5729-242-L  A/5730-242-L
- -A/12x1,5-L - -A/42,4x2-L /A/0790-242-L - -A/0727-042-L /A/0302-242-L
\ 1 I 1 ’
| ;
! ,
A/0221-012-L ------~ \ ! ]
SeeeT e | ; o
\ B \ ! max. 1500rm < - A-DIN 7380-A2 M5x12
\ < 5 ; 7 .
) ’ N
; AT \\’/i
ADINTI91-AZ MSXT6 | ——— é\r/
E
e A/0718-242-L
ST ----A-DIN 7991-A2 M5x16
[ =20 o —
A-DIN 7991-A2 M5x16 QL \ left
// N N \ .
I \\ \
N -r ~ N \
; "‘@% o= , \
, I L L . ! S , N N
right / - - 1 \ : Vo o
’ N : / \ \ / 7]  A/0832-042-L
! ' = AN ! 0 NS Hyng
BERALN \\\ ! "/ \ \
[ N 1 \ \ -
A/0833-042-L N [N ) |
—— Wol| A £ \ S S
1 \ \ \ ~
! | \ K | *+._ ADIN 1587-A2 M10
A/0942-242 | . \
& ™, 7 ! %
‘ 5 A/0302-012-L IEREEREG
RS 1A6/004-6-L
9 T -l
\ N ==
\\ OQ
A-DIN 934 M10 A/0512-042-L N ::
\ *VA-DIN 1587-A2 M10
A/5729-242-L
A-DIN 975 M10 A/0940-042-N A-VR90-4D12-L A-BR90-4D12-L A6/021-6-L EBIYS75 M10
handle system - standard Q
, . = >, A
5 5 =y
t ; T . ; " "~ J
- -~ X % R L A/5729-242-L A/5730-242-L A/1732-042-L
N E<IRNT NP «
N © © @)
N = = =
//
" 'A/0505-042-L A/42,4x2-L ' A/0111-042-L A/0112-042-L A/0302-242-L A/0305-242-L A/0303-242-L
07/13

=brus/satin K320 &3 lesk/polish



40x40 || AISI304

horizontal system - standard
| ——— i e c—|

10x10 12

i

A/15x5

=60mi A/10x10

A/GLUE-50g A/spray-WS A/cl

A/4732-040

A/1734-040

~--A/4302-040

- - A/40x40x2
o

Ed

A10/4023-012

'

A/12x1,5

T

\

\

A10/0015-012-A

e

-~~~ A/4790-040

<2~ A-DIN 7380-A2 M5x12

A/4718-000

left
1]
|

A/0221-012
A-DIN 7991-A2 M5x16
I
\@E \oﬁ N
A/4810-000 A/0830-000 -

A-DIN 7991-A2 M5x16

A/0833-000

right \\
N ‘
, ‘ |

A/4511-040

A-DIN 934 M10

A-DIN 975 M10

\
L9 ]
A/0832-000

A-DIN 7991-A2 M5x16

"

A/4732-040 -

AJP-BR90-4D12

--
N
N
N
N

_--A-DIN 1587-A2 M10

'
|

'

1
'
|
'
|
'
|
'
!
'
i
'
|
'
|
'
|
'
'
'
|
=

A/0302-012-S
7& . A-DIN 975 M10
A6/005-4

A/4010-012

AJP-VR90-4D12

A/1980-100

A/4940-040

| handle system - standard

\v o - 5
\m g&/ \@ \@
A/0708-000
A/40x40x2 A/4790-040 A/0111-000 A/0112-000 A/4111-000 A/4302-040 A/4301-040
07/13

'

'
'
'

----A/1734-040

=brus/satin K320 £} lesk/polish



baluster posts - standard \

(mm) t I Ciniak I
m ] = | o
12 14 16 1 =
L S satin polish l
A = = = | e
A = I
] Th |
‘ T A )
<o) @ @ o L i Y
EN 743305 ‘8E’ § 9 q b | d o
EN 734130 = |°
h H H © T « a i ! Ei:
90cm  <3m 9 o q q <C
100cm < 12m
110cm < 30m & @ @ a 3 »
120cm > 30m )
d
v L4 14 | 4410 1L
7 | 9
material
satin polish satin satin
A/0830-042| height art.
Igo om A-VR90-4D12 A-VR90-4D12-L AJP-VROO-4D12 AVR90-4x12
— I100cm A-VR100-5D12 A-VR100-5D12-L AJP-VR100-5D12 A-VR100-5x12
IQOcm A-BR90-4D12 A-BR9O0-4D12-L AJP-BR90-4D12
B
_ I100cm A-BR100-5D12 A-BR100-5D12-L AJP-BR100-5D12
VS - I 90cm A-VS90-4D12 A-VS90-4D12-L AJP-VS90-4D12
I100cm A-VS100-5D12 A-VS100-5D12-L AJP-VS100-5D12
BS . IQOcm A-BS90-4D12 A-BS90-4D12-L AJP-BS90-4D12
I100cm A-BS100-5D12 A-BS100-5D12-L AJP-BS100-5D12
A PNE I N 424 ol — %
1 * 1, SEr =%
& \ 90cm 8 g |90cm 90cm "1 A/0718-242
£ \ 1B 8 ) D
O VR o | BS . )
\/ !- -------------- ’.-""- ------ -~ ?ﬁ 'AJ0830-042 AJ42,4x2
s S — e
T =
| , K - ' | o)
: ; j VE
e 100cm 2 100cm e 100cm 3 2 g |100cm . d 3
\ VR . E g El- g =1~ IBs | 8 »—;: + A/0512:042
5 [F<+—bsx I P : " -t (B 0
= Le| mam | |
! : L i ‘ }7‘2” ______ H : e
L e A/0940-042-N éﬁg

07/13

=brus/satin K320

k)

€3 lesk/polish




railing sets - standard

Quality

(mm) t

AlS|

48,3 40x40 AISI304

12 14 16

= L-1500 S
L-3000

L-6000

Quality Finish art. L h Quality Finish art. L h
A/ZVR90-1500 1500 900 A/ZVR100-1500 1500 1000
AISI304 A/ZVR100-3000 3000 1000

A/ZVR90-3000 3000 900
A/ZVR90-6000 6000 900 A/ZVR100-6000 6000 1000

AISI3

T e T

Quality  Finish art. L h

A/ZBR100-1500 1500 1000
A/ZBR100-3000 3000 1000
A/ZBR100-6000 6000 1000

Quality  Finish art. L h

A/ZBR90-1500 1500 900
AISI304 @ A/ZBR90-3000 3000 900 AISI304
A/ZBR90-6000 6000 900

Quality Finish art. L h Quality Finish art. L h

A/ZVS90-1500 1500 900 A/ZVS$100-1500 1500 1000
A/ZVS90-3000 3000 900 A/ZVS100-3000 3000 1000
A/ZVS90-6000 6000 900 . A/ZVS100-6000 6000 1000

AISI304

Quality Finish art. L h Quality Finish art. 15 h
A/ZBS90-1500 1500 900 A/ZBS100-1500 1500 1000
AISI304 A/ZBS90-3000 3000 900 P\EIEDEN = A/ZBS100-3000 3000 1000
A/ZBS90-6000 6000 900 A/ZBS100-6000 6000 1000

\ handle system - standard

Quality Finish art. L

% % % % % A/M-1500 1500
— A/M-3000 3000
L-1500 ‘ - 3000 ‘ AISI304 A/M-6000 6000

' L-6000 | Atyp

=brus/satin K320 &3 lesk/polish 0713




horizontal system - standard

A/1732-048

A/0818-042

A/0512-042

A/12x1,5

WB/D42-L...
A/0830-042

A/0302-012-S

A10/0015-012-A
'A6/80x5-M16

=brus/satin K320 &3 lesk/polish

07/13



horizontal system - standard

L 424 — e | &
1012 w 3 m 40x40 | AISI304 ‘ =
— | — buk(beech) satin
— -—
=~ V4
0 & "
@ & [P & | & @
2 50
= WB/D42-L ... WB/40x40-L ...
Wiglus/25g WE/D42:G2W  WA/DA2:G2 A/12x1,5 WB/D42-45°  \WB/D42-90°
. ;
\\ /I
! max 1300mm
: E
'
'
_____ APH5x20 o8&
AEEE (D)
| |_o
/B
| C
NN , o
| o
=0- =0 ! ' [A/0818-042
! 1
(/ AT / | : &9 mm
i \ | ' e
T OERY | N = : : <
A/0830-042 I ; : ')
Lol ‘ ' \ “Aj1732:048
UV 6/40ZH K '\ . A R [@ '
’ - = |
1 Ss N I
= N |
T S IR oo ] WOOD/M8-D
u \\ :|§|: // X N ~ o SS
’ ~ - ~ S
! ) > ~ - S~ ~
¢ \ ) . A
] ! S
(3) 2505 ! é\/
e , \ ~
/) Y A/0302-012-S
k/ : . \V
N p =
A/0512-042 __.----ADIN1587-A2 M10
WB/D50L ... < A6/48
E h \ )
a @ ) A6/48 DIN975M10x1000-Zn
DIN 933 M10x20 @50 400
A6/80x5-M16 WOOD/M10-D N
e d WB-VR90-4D12  WB-BR90-4D12  WBJP-BS90-4D12  |WBJP-VS90-4D12 A/1732-048
\ handle system - standard
P & (& e &
3 50 Q-
WB/40x40-L ... WB/D42-L.... A7/42-11-A° A20/0729-042-S A20/0790-042-R || WB/D42-86° WB/D42-G55 WA/D42-G2 A20/0729-042-S |A20/0729-042R
E N \ -7
W \ \ \\ @
Al \
. )
N \
N \
Al \
- PAiN PR
;/ I N _ _ ’/ \\// \\
PR S va Sl P
e ! l N IR // wood inox
i e —x AR L ~-- . W/glue25g | 'A/GLUE-10g
A/0504-042 e T
T D P | I o A
g S
A/0302-242 A/0305-242
A-DIN 975 M8 W
A/0708-042 A/0111-042  A/0112-042 WB/D42-90° A20/0790-042R WB/D42-D55kIb  A7/42-55-D

=brus/satin K320 £} lesk/polish

07/13




b
baluster posts - standard ‘

(mm) t — ;
12 ] 12 | 16 | glass 40x40 n AISI304 [s1316 =
satin
A = B
5| € ¢ 3 a o
EN 743305 S 8 q >-
EN 734130 H - ® l_
h H @ a <
90cm <3m q o
100cm < 12m
110cm  <30m e [
120cm  >30m E
[
\ A
777777 @7@77;77:777777 -
7 @ €
material
A/0830-042 buk (beech) dub (oak) buk (beech) dub (oak)
height art.
R 190 cm WB-VR90-4D12 WD-VR90-4D12 WBJP-VR90-4D12 WDJP-VR90-4D12
I100cm WB-VR100-5D12 WD-VR100-5D12 WBJP-VR100-5D12 WDJP-VR100-5D12
IQOcm WB-BR90-4D12 WD-BR90-4D12 WBJP-BR90-4D12 WDJP-BR90-4D12

100cm

<>

WB-BR100-5D12

WD-BR100-5D12

WBJP-BR100-5D12

WDJP-BR100-5D12

90cm

WB-VS90-4D12

WD-VS90-4D12

WBJP-VS90-4D12

WDJP-VS90-4D12

100cm WB-VS100-5D12 WD-VS100-5D12 WBJP-VS100-5D12 WDJP-VS100-5D12
S IQOcm WB-BS90-4D12 WD-BS90-4D12 WBJP-BS90-4D12 WDJP-BS90-4D12
$OOcm WB-BS100-5D12 WD-BS100-5D12 WBJP-BS100-5D12 WDJP-BS100-5D12

By

Bl%(L % sl

T N 42 <
11 YT ra ST :
S
@ o'
4
o 90cm l g 8 90cm
g \4x BS : g
!
8 Iy E
/ — ’
s -
i T
@ I |
T i Y B
T et Ot U ottt A T LT LN 9
vy &/ 1 et
A 3 N 424 ZI — \%’
1 T BT
b w“i 0T
g | g
o r— {
, 100cm 2 100cm < g 8 [100cm <
o g T o 8 »;; e 8 2
-1 & - e - .
_ VR . g S [Bs T
S P 4—— 5x I @ Hoot !
g 1|, 7 g 1 g
- t | e— |y
: | L
H H )
SIS H | H 8 o
------------- ; b3 poeeeed € S
\

A/0830-042

A/0718-242

A/1732-048

WB/D50

A/0512-042

A6/80x5-M16

|

07/13

k)

=brus/satin K320 3

lesk/polish



%? railing sets - standard

-
(mm) t | b
= &
12 14 16 | glass AISI304 ; lish
satin
T T T T T
T T
h h
5 L-1500 ‘
L-3000 |
' L - 6000 |
Quality  art. Quality art. L h
WB/ZVR90-1500 1500 900 ~ WB/ZVR100-1500 1500 1000
WB/. 0-3000 3000 900 WB/ZVR100-3000 3000 1000
buk(beech) W 000 6000 900 buk(beech) wB/ZVR100-6000 6000 1000
T T
T T T
— X -
Quality art. L h Quality art. L h
WB/ZBR100-1500 1500 1000
WB/ZBR100-3000 3000 1000
ch) WB/ZBR100-6000 6000 1000

Quality art. L h
WB/ZVS90-1500 1500 900

\ WB/ZVS90-3000 3000 900
buk(beech) wB/zvS90-6000 6000 900

Quality art. L h

WB/ZBS90-1500 1500 900
WB/ZBS90-3000 3000 900
buk(beech) wB/ZBS90-6000 6000 900

Q handle system - standard

Quality art. L

h

WB/ZVS100-1500 1500

1000

WB/ZVS100-3000 3000

1000

WB/ZVS100-6000 6000

1000

L-2000

o 315‘

! L - 3000

Quality art. L h
WB/ZBS100-1501 1000
WB/ZBS100-30 1000
buk(beech) wB/ZBS100-6 1000
% % ) Quality art. L
WB/M-2000 2000
L - 6000 buk _WB/M-3000 3000
6000

' (beech) WB/M-6000

=brus/satin K320 £3 lesk/polish

07/13 1 1




A5/L6-G

A/7300-005

A/7250-005

=brus/satin K320 &3 lesk/polish

A5/L6-V

07/13




* | cable system
T q(mm) t v —
5 2 14 16 48,3 |40x40| AISI304

Quality

t I' t' @ @
art. applications

== ==

# |

A5/L5 4 F /
AS/LSY i| F v
rss000s i| |i Vv
s AW

%)

=/ A14/7900-003-12/P 3

S A14/7900-005-12/P 5
L

S %
V / 2 \
\ °
M D
g D L M d art. %) S D

= A5/L3-G 3,2 12 38 6 12 A/0830-042 42,4 20 22
AlSIS04 satin A5/L6-G 6 12 38 6 AlSIS04 sa

in 12 A/0830-000 - 20 22

%] D d S
42,4 A17/442-3 22 3,2 20
42,4 A17/442 22 6 20
- A17/400-3 22 3,2 20
- A17/400 22 6 20

Quality

=3

ati

satin

\ / = %
M D/P s b \
N
Z | L2 ‘ L1
oo el TR SRS AT
= A5/L3V 3,2 12 6 = 2 = S
= - satin  A/74 6 20
M satin  A5/L6V 6 12 6 satin A5/L6 6 12 38 50 6 /7400-005
L

M 40

9
g D g D L M
AISI304 = A/7250-003 3 10 160- 240 10 _ A/7350-003 6 6 12 AISI304 = A/7300-008 3 12 51 10
satin | A/7250-005 5 17,5 230-340 10 AISI304 agtin A/7350-003-B 6 6 13,5 satin  A/7300-005 5 12 51 10

A/7350-005 10 10 20

Sbrus/satin K320 & lesk/polish 07/13 13



W

vertical system

'A/0855-042 'A/0221-012
'A/0830-012 | Aj0321580. i ‘ |
A/O727 - .

A/42x2-15x12-2000

=brus/satin K320 &3 lesk/polish

07/13




\ vertical system

) t
10 12 4 16

Quality

AISI304

132

12

/

A/42x2-15x12-2000

- “~max. 2000mm

IR A

A/0727-242-S

A/0727-242

A-DIN 7380-A2 M5x12

— A/0321-90  A/0323-90
max. 1500mm
A/0221-012
A10/0015-0w12-
-
T | el A/0324-90  A/0327-90
£A/0850-042
A-DIN 7991-A2 M5x16
g < ™y,
o qlb ~
-7 . \\ \

P — 'A/0855-042 "\
A/0830-012 AEESSERET

\
\

\

A
A-DIN 7991-A2 M5x16

\ \ railing sets

A’
qi 4D
Quality _Finish_art. L h Quality  Finish art. L h
AISI304 sﬁn A/ZVVR100-2000 2000 1000 IWEEWPS = A/ZBVR100-2000 2000 1000
satin

=brus/satin K320 £} lesk/polish 07/13 15 ‘



glass railing system - standard

Ja
2]

A/0718-242

A20/0729-242

A/0512-042

WEB/D42.L..
3

A/2200-042

GS/8,76-120x75-VSG

A/0940-042-N

=brus/satin K320 &3 lesk/polish

07/13



10
-z O
= =
o ]
> &
R > >
(7] (7))
] '
- N
k 0 (%)
e b h 7 K S z o e f glass - t (mm) 6 6,76 8 8.76 10 10.76
mm 48-50 40 28 36-38 13-15 20 8 20 100 A19/20-006 A19/20-007 A19/20-008 A19/20-009 A19/20-010 A19/20-011
- AL 3?,7 ('“s'“) (mbm) (mkm) S8 5 AIS%04 AIS%16 ZA?AK sﬁu PO?.?SH S
A/2000-033 v 13 48 36 J v/ v v
A/2000-033-L v 13 48 36 v v/ v v
A14/2000-033 V4 13 48 36 v v/ v v
A14/2000-033-L 7 13 48 36 v v/ v v
ZN/2000-033 v 13 48 36 v / v
ZN-SATIN/2000-033 v 13 48 36 v/ v v
ZN-POLISH/2000-033 13 48 36 v/ v v
ZN-COLOR/2000-033 13 48 36 v/ v/ v v
A/2000-04 v m v / v v
! A/2000-042-L 38 v 4il4 v v
-’ A14/2000-042 v 15 50 ? v VArs v v
A14/2000-042-L 4 15 50 38 v WArs v v
ZN/2000-042 g 15 50 38 v NANA v
ZN-SATIN/2000-042 v 15 50 38 v NANA v v
ZN-POLISH/2000-042 7 15 50 38 v NANA v v
ZN-COLOR/2000-042 v 15 50 38 v AN v v
A/2000-048 v 15 50 38 V 4AN4 v v
A/2000-048-L v 15 50 38 AN v v
A14/2000-048 v 15 50 38 v WAV v v
A14/2000-048-L v 15 50 38 v WAr4 v v
ZN/2000-048 v 15 50 38 v WAV v
ZN-SATIN/2000-048 v 15 50 38 v A4 v v
ZN-POLISH/2000-048 v 15 50 38 v [4AN4 v v
ZN-COLOR/2000-048 v 15 50 38 v |40 v v
A/2000-000 v 15 50 38 V | /N4 k v - ‘
’,/ A/2000-000-L. / 15 50 38 v |4AW4 v v
-7 A14/2000-000 v/ 15 50 38 v 4WV4 v v
A14/2000-000-L v 15 50 38 V 4AN4 v v
ZN/2000-000 / 15 50 38 V |44 v
ZN-SATIN/2000-000 v/ 15 50 38 / |4V v v
ZN-POLISH/2000-000 v/ 15 50 38 v [AV4 v v
ZN-COLOR/2000-000 v/ 15 50 38 v [AV4 v v
Nerez / INOX
+
| I r A-FTT-M8 A-DIN 7380-A2 M;\
- < + + - -+
@ A-DIN 7380-A2 M8x20 /’
5/ Drevo / WooD / % A19/20-... A19/20-...
;| - I I - + A/2000-... =
WOOD/M8-D  A-DIN 7380-A2 M8x20 A19/04-PVC !

Zbrus/satin K320 € lesk/polish o713



glass clamps \

18

210
. i &
= =
T =
(7] (7))
' '
k 5 5
Dimensions b h a k s z %] e f glass - t (mm) 8 8.76 10 10.76
nm 61-63 45 28 46-48 15-17 23 8 28 100 A19/22-008 A19/22-009 A19/22-010 A19/22-011
Art. 3?,7 423 (msm) (mbm) (mkm) &; B 52 S3 AIS%04 A|S|@316 ZA?AK sﬁu PO?.?SH Cg‘L‘ER
A/2200-033 Ve 15 61 46 v/ v/ v v
A/2200-033-L v 15 61 46 v/ v v
A14/2200-033 v 15 61 46 v/ v v
A14/2200-033-L v 15 61 46 J Vv v v
ZN/2200-033 v 15 61 46 v/ v
ZN-SATIN/2200-033 v 15 61 46 v/ / v v
ZN-POLISH/2200-033 15 61 46 v/ / v v
ZN-COLOR/2200-083 15 61 46 J / v v
A/2200-042 ' “ /| v v
x,’ A/2200-042-L ' 7 J / v v
- A14/2200-042 s 17 63 48 v |4V 7 4
A14/2200-042-L v 17 63 48 v [4iV4 v v
ZN/2200-042 v 17 63 48 v WAN4 v
ZN-SATIN/2200-042 v 17 63 48 v PANs v v
ZN-POLISH/2200-042 v 17 63 48 v WAV4 v v
ZN-COLOR/2200-042 v 17 63 48 v A4 v v
A/2200-048 v 17 63 48 v [4V4 v v
A/2200-048-L v 17 63 48 v NAVA4 v v
A14/2200-048 v 17 63 48 v WAV v v
A14/2200-048-L v 17 63 48 v AWV v v
ZN/2200-048 v 17 63 48 v AW v
ZN-SATIN/2200-048 v 17 63 48 / A4 v v
ZN-POLISH/2200-048 v 17 63 48 v [AVA4 v v
ZN-COLOR/2200-048 v 17 63 48 v |4 W4 v v
A/2200-000 v 17 63 48 / | L N4 k ‘
//' A/2200-000-L v/ 17 63 48 v [0 v/ v
. A14/2200-000 / 17 63 48 v |44 v 4
A14/2200-000-L v/ 17 63 48 v AW v v
ZN/2200-000 v 17 63 48 v |4 V4 v
ZN-SATIN/2200-000 v 17 63 48 v [4iV4 v v
ZN-POLISH/2200-000 v 177 63 48 v [4ANW4 v v
ZN-COLOR/2200-000 v/ 17 63 48 v [AVl4 v v
Nerez / INOX
- +
‘ I I A-FTT-M8 A-DIN 7380-A2 Me:zo\
- - + + +—— +
A-DIN 7380-A2 M8x20 /’
Dreve /WOoD + k A19/22-... A19/22-...
I I D + A/2200-... =
! WOOD/M8-D  A-DIN 7380-A2 M8x20 !
A19/04-PVC
07/13

=brus/satin K320 &3 lesk/polish



[

i
S1-SYSTEM
S2 - SYSTEM

Dimensions b h a k s z %] e f glass - t (mm) 12 12.76
mm 61-63 45 30 46-48 14-16 23 8 28 100

A19/25-012 A19/25-013

oD Art 1) %) S b k =) e @) = k) COLOR
. 33,7 48,3 (mm) (mm) (mm) AISI304 AISI316 ZAMAK [EECTS VIR TS TR
A/2500-033 v/ 14 61 46 v v
A/2500-033-L v 14 61 46 v v
A14/2500-033 v 14 61 46 v v
A14/2500-033-L Z 14 61 46 v v
/l.
. 16 63 48 v/ v
.
A/2500-042-L v 16 63 48 v v
A14/2500-042 v 16 63 48 v v
A14/2500-042-L v 16 63 48 v v
A/2500-048 v 16 63 48 v v
A/2500-048-L v 16 63 48 v v
A14/2500-048 v 16 63 48 v v
A14/2500-048-L v 16 63 48 v v
P s

e < A/2500-000 /16 !3 48 v/ v
A/2500-000-L. v/ 16 63 48 v v
A14/2500-000 / 16 63 48 v v
A14/2500-000-L v 16 63 48 v v

Nerez / INOX
- +
A-FTT-M8 A-DIN 7380-A2 M;m\
-« - . NP +
@ A-DIN 7380-A2 M8x20
/=  Drevo/WOOD + A19/25-... A19/25-...
7| - + A/2500-... [
1
WOOD/M8-D A-DIN 7380-A2 M8x20
A19/04-PVC

=brus/satin K320 £} lesk/polish 07/13



glass clamps \

=
Ll
[
(2
S
(/)
'
—
n
Dimensions b h a s z %] f glass - t (mm) 6 6,76 8 8.76 10 10.76
pm 43-45445 28 14-16 22 x 100 A19/21-006 A19/21-007 A19/21-008 A19/21-009 A19/21-010 A19/21-011
m Art. 3:?,7 48,3 (msm) (mbm) Als%m AIS%1 6 ZA?AK sﬁu PO?.?SH COR‘I;(ZR AL
A/2100-033 v 14 43 v v
A/2100-033-L v 14 43 v v
A14/2100-033 v 14 43 v v
A14/2100-033-L v 14 43 v v
ZN/2100-033 v 14 43 v
ZN-SATIN/2100-033 v 14 43 v v
ZN-POLISH/2100-033 14 43 v v
ZN-COLOR/2100-033 14 43 v v
v v v
. v v v
__// A14/2100-042 VA 16 45 / v v
A14/2100-042-L 4 16 45 / v v
ZN/2100-042 v 16 45 / v
ZN-SATIN/2100-042 7 16 45  / v v
ZN-POLISH/2100-042 v 16 45 / v v
ZN-COLOR/2100-042 v 16 45 / v v
A/2100-048 v 16 45 / v v
A/2100-048-L v 16 45 / v v
A14/2100-048 v 16 45 / v 4
A14/2100-048-L v 16 45 / v v
ZN/2100-048 4 16 45 / v
ZN-SATIN/2100-048 v 16 45 / v v
ZN-POLISH/2100-048 v 16 45 / v v
ZN-COLOR/2100-048 v 16 45 / v v
A/2100-000 v 16 45 / v - ‘
- A/2100-000-L v/ 16 45 / v ‘ ‘
/’/ A14/2100-000 J/ 16 45 v v
A14/2100-000-L v 16 45 / v v
ZN/2100-000 v 16 45 / v
ZN-SATIN/2100-000 v/ 16 45 / v v
ZN-POLISH/2100-000 v/ 16 45 / v v
ZN-COLOR/2100-000 / 16 45 / v v
D +
A-FTT-M8 A-DIN 7380-A2 M;N
@5 breve / WOOD A-DIN 7380-A2 M8x20
7 + A19/21-.. A19/21-...
| : -— + A/2100-...
¢ WOOD/M8-D A_pIN 7380-A2 M8x20 A1604-PVC "

07/13

=brus/satin K320 &3 lesk/polish



| glass clamps

= s s
Ll L
= = =
(2] w (7))
> > >
n (%) (7))
1 L (]
- o (3}
(72) () )
Dimensions b h a k s z %] e f glass - t (mm) 6,76 8 8.76
mm 44-45 45 23 37-38 15-16 22 8 18 100 A19/21-P07 A19/21-P08 A19/21-P09
%) @ s b ok e e @ £ ©  coor
MODEL 210P Art. 33,7 (mm) (mm) (mm) AISI304 AISI316 ZAMAK JET NI TN R
A/210P-033 v 15 44 37 v v
A/210P-033-L v 15 44 37 v v
A14/210P-033 v 15 44 37 v v
A14/210P-033-L v 15 44 37 v v
;
‘/
- v/ 1i 45 38 4 4
A/210P-042-L v 16 45 38 v v
A14/210P-042 v 16 45 38 v v
A14/210P-042-L v 16 45 38 v v
A/210P-048 v 16 45 38 / v v
A/210P-048-L v 16 45 38 / v v
A14/210P-048 v 16 45 38 / v v
A14/210P-048-L v 16 45 38 / v v
-7 v
Poias A/210P-000 / 16 45 38 v v/
A/210P-000-L v 16 45 38 / v v
A14/210P-000 v/ 16 45 38 / v v
A14/210P-000-L v/ 16 45 38 / v v
Nerez / INOX
- +
A-FTT-M8  A-DIN 7380-A2 M;m\
<« - + N -+
A-DIN 7380-A2 M8x20
> Drevo / WOOD +
| <7 A19/21-P... A19/21-P...
( - + ,
WOOD/M8-D  A-DIN 7380-A2 M8x20 -
A19/04-PVC A/210P-...

=brus/satin K320 £} lesk/polish

07/13 2 1 ;T



glass clamps \

= = =
[ L
0 » o
7 » »
1 ' f
0 a 3
Dimensions b h a k s z (%) e f glass - t (mm) 8 8.76 10 10.76 12 12.76
mm pe 2N 5742 NERNE 26 IE 20 BED A19/26-008 A19/26-009 A19/26-010 A19/26-011 A19/26-012 A19/26-013
MODEL 26 Art. voy 2 LI, 53 o o o NEEEIETS
A/2600-033 v 12 48 37 v v
A/2600-033-L v 12 48 37 v v
A14/2600-033 v 12 48 37 v 4
A14/2600-033-L Y 12 48 37 v v
ZN/2600-033 v 12 48 37 v
ZN-SATIN/2600-033 v 12 48 37 v 4
ZN-POLISH/2600-033 12 48 37 v v
ZN-COLOR/2600-033 v 12 48 37 v v
,:' A/2600-042 s n g 4 v
- A/2600-042-L v 17201 53 V42 v v
A14/2600-042 v 17 53 42 o/ v v
A14/2600-042-L v 17 53 42 / v v
ZN/2600-042 v/ 17 53 42 v
ZN-SATIN/2600-042 v 17 53 42 / v 4
ZN-POLISH/2600-042 v 177 53 42 v v
ZN-COLOR/2600-042 V4 17 53 42 / v 4
A/2600-048 v 17 53 42 / v v
A/2600-048-L v 17 53 42 / v v
A14/2600-048 v 177 53 42 (/ v v
A14/2600-048-L v 177 53 42 / v v
ZN/2600-048 v 177 53 42 / v
ZN-SATIN/2600-048 v 17 53 42 / v v
ZN-POLISH/2600-048 v 17 53 42 / v 4
ZN-COLOR/2600-048 v 17 53 42 / v v/
A/2600-000 v 17 53 42 v
/'/ A/2600-000-L v/ 17 53 42 / v 4
’ A14/2600-000 v/ 17 53 42 / v v
A14/2600-000-L v/ 17 53 42 / v v
ZN/2600-000 v/ 17 53 42 / v
ZN-SATIN/2600-000 v/ 17 53 42 / v v
ZN-POLISH,/2600-000 v 177 53 42 / v v
ZN-COLOR/2600-000 v/ 17 53 42 / v v
Nerez / INOX
- +
A-FTT-M8  A-DIN 7380-A2 M8x20
* A-DIN 7380-A2 M8x20 / %: +
Drevo / WOOD
% A19/26-... A19/26-...
I I WOOD/M8-D  A-DIN 7380-A2 M8x20
A19/04-PVC A/2600-...
2 2 07/13

=brus/satin K320 &3 lesk/polish




\ baluster posts - standard

d (mm) B S V— ) B — Quality
glass E @) @ =
10 12 14 16 t=8,76 w 40x40 || AISI304 ZAMAK satin
Wf****;***, 77777777777777777777777777777777
i FTTT TS
)
A =
o
EN 743305 c >
EN 734130 H S 2GL 2GR 4G 4G90 2GL 2GR 4G 4G90 =
h H IS <
90cm <3m
100cm < 12m
110cm < 30m
120cm  >30m 1 f ﬁ Gb
6 G B S - B-E -
material m%z
satin polish satin
MODEL 22 height art.
VR-L VR-R
i—————-i i—————-i A-VR100-2GR A-VR100-2GR-L AJP-VR100-2GR
A B I100cm
- - A-VR100-2GL AVR100-2GL-L AJP-VR100-2GL
: A-VR100-4G A-VR100-4G-L AJP-VR100-4G
I100cm E
ﬁ- A-VR100-4G90 A-VR100-4G9O0-L AJP-VR100-4G90
A-VS100-2GR A-VS100-2GR-L AJP-VS100-2GR
I1000m
A-VS100-2GL A-VS100-2GL-L AJP-VS100-2GL
11 00cm A-VS100-4G A-VS100-4G-L AJP-VS100-4G
% glass - t (mm) 8 8.76 10 10.76
+ A19/22-008 A19/22-009 A19/22-010 A19/22-011
1 I )
! A/0718-242
o Bl
Leg _~TdH
A/42,4x2 |
right ) g < 7 g
(art...2GR) f— &
EE— I H
left H [ 2l
(2 gTE 4 U ? A/2200-042 A/0512-042
7LlELjN /'4/; S|
= 7 =
§ _J &
VR-4G VS-4G
i ame = | un |
o o | A/0940-042-N )
- I &.S
GS/8,76-120x75/4DVSG ~~ ————— —=I

GS/8,76-120x85/4D-VSG

=brus/satin K320 £} lesk/polish

07/13

o3 |



baluster posts - standard \

d (mm) Quality _
glass Q) o
10 12 14 16 t—8 76 3 40x40 A|S|304 ZAMAK @
o T i B
: <,, ~
S
o
EN 743305 >
EN 734130 H 5 -
h H 8 2GL 2GR 2GL 2GR 4G 4G90 <
90cm <3m
100cm < 12m
110cm  <30m
120cm > 30m
v __ ,,,,-?,LG, ,,,,,,, _ I [ N
material
satin polish satin
MODEL 22 height art.
BR-L BR-R
r————'i i—————'i A-BR100-2GR A-BR100-2GR-L AJP-BR100-2GR
[ | TR I1000m
- A-BR100-2GL A-BR100-2GL-L AJP-BR100-2GL
BR-4G
r—" ——'i A-BR100-4G A-BR100-4G-L AJP-BR100-4G
] I1000m E
A-BR100-4G90 A-BR100-4G90-L AJP-BR100-4G90
BS-L BS-R
r————'i r———-—'i A-BS100-2GR A-BS100-2GR-L AJP-BS100-2GR
I 4 I I1000m
[ I A-BS100-2GL A-BS100-2GL-L AJP-BS100-2GL
— 1 — 1
BS-4G
[ mm |
I 11 00cm A-BS100-4G A-BS100-4G-L AJP-BS100-4G
|
el |
% glass -t (mm) 8 8.76 10 10.76
+ A19/22-008 A19/22-009 A19/22-010 A19/22-011
1

right
(art...2GR)

left
@r..2ar) (D

GS/8,76-120x75/4D-VSG
GS/8,76-120x85/4D-VSG

(75
958

= ,
ICER) -

100

A/0718-242

A/2200-042

A/42,4x2

A6/021-6-A

07/13

24

=brus/satin K320 &3 lesk/polish




3
baluster posts - standard

g 1 i
Hm o p-
O H
ff 18] A
: i
7;J‘LLjN /,4& S|
< -7
E 7
]
VR-4G . VS-4G
| gm | am |

o

GS/8,76-120x75/4D-VSG
GS/8,76-120x85/4D-VSG

A/1732-048

A/2200-042

A/0512-042

LD

A6/80x5-M16

d (mm) Quatit =
o [P e i 2 [
10 12 14 16 40x40 | AISI304 k
t=8,76 Y 1 puk(beech)| dub(oak) | satin
- - - _-vy________________-_- - N\ ________________
A
'y J
Ivh g G
4 A
EN 743305 5 26L 2GL 2GR o
EN 734130 H ,8_ t
h H <
90cm <3m
=
120cm > 30m
\/
A N &S & -
material
buk (beech) dub (oak) buk (beech) dub (oak)
MODEL 22 height art.
VR-2GL__ VR-2GR
VR2GL__ TP WB-VR100-2GR WD-VR100-2GR WBJP-VR100-2GR | WDJP-VR100-2GR
| i e
| I | | [100cm
-- WB-VR100-2GL WD-VR100-2GL WBJPVR100-2GL | WDJP-VR100-2GL | s
_VR-4G _VR-4G90 WB-VR100-4G WD-VR100-4G WBJP-VR100-4G | WDJP-VR100-4G
i as “ .l I
| 100cm
-ﬁ- WB-VR100-4G90 | WD-VR100-4G90 | WBJP-VR100-4G90 | WDJP-VR100-4G90
VS-2GL__ VS-2GR
SRT T T WB-VS100-2GR WD-VS100-2GR WBJP-VS100-2GR | WDJP-VS100-2GR
| | 100cm
EJI WB-VS100-2GL WD-VS100-2GL WBJP-VS100-2GL | WDJP-VS100-2GL
— 1
VS-4G
| am |
: 1000m WB-VS100-4G WD-VS100-4G WBJP-VS100-4G WDJP-VS100-4G
I H
— 1
k glass - t (mm) 8 8.76 10 10.76
+ A19/22-008 A19/22-009 A19/22-010 A19/22-011
]

&

=brus/satin K320 £} lesk/polish

07/13

25



b
baluster posts - standard

A19/22-008 A19/22-009 A19/22-010 A19/22-011

d(mm) oualihu c— I — Cinmia
glass m @) =
10 12 14 16
t=8,76 | 50 | SOx80 AISI304 ZAMAK buk(beech)l dub(oak)‘ satin
e
: e
h g
Q
o
£ >
EN 743305 8 |—
EN 734130 - 2GL 2GR 4G 4G90 2GL 2GR 4G90 <
90cm <3m
100cm < 12m
110cm <30m @ ﬁ
~120cm  >30m
I A ) D > | T NrT N
d b :
@ 8
material
buk (beech) dub (oak) buk (beech) dub (oak)
MODEL 22 height art.
BR-2GL BR-2GR
| WB-BR100-2GR WD-BR100-2GR | WBJP-BR100-2GR | WDJP-BR100-2GR
- I =0 | |100em
WB-BR100-2GL WD-BR100-2GL | WBJP-BR100-2GL | WDJP-BR100-2GL
L | I ——
BR-4G
oh4G  BR-4G90, WB-BR100-4G WD-BR100-4G | WBJP-BR100-4G | WDJP-BR100-4G
| 1 | o)
| o8 . 1| [100cm &
--EI WB-BR100-4G90 | WD-BR100-4G90 | WBJP-BR100-4G90 | WDJP-BR100-4G90
IBS'zG" ~BS$2—G3— WB-BS100-2GR | WD-BS100-2GR | WBJP-BS100-2GR | WDJP-BS100-2GR
| | 100cm
! I WB-BS100-2GL WD-BS100-2GL | WBJP-BS100-2GL | WDJP-BS100-2GL
— 1
ES_"‘_G'__.
I
! 100cm | WB-BS100-4G WD-BS100-4G WBJP-BS100-4G | WDJP-BS100-4G
I
1 glass -t (mm) 8 8.76 10 10.76

VR-2R
(right)
VR-2L

o

GS/8,76-120x75/4D-VSG
GS/8,76-120x85/4D-VSG

100

BS-
==

A/1732-048

A/0818-042

A/2200-042

A/0512-042

2

A6/48

€

07/13

26

=brus/satin K320 &3 lesk/polish




railing sets - standard

d (mm)

10 12 14

Quality

AISI304

L-5350
L-2786
L- 1504 |
|
Quality4 Finish art. L h
'A/ZGVR100-1 1504 1000
INGELIM = A/ZGVR10 2786 1000 +
A/ZGVR1 5350 1000
A/2200-042 A19/22:009 A19/22-009
L-5350

L-1504 |

Quality Finish art. L h
A/ZGBR100-1504 1504 1000
AISI304 S A/ZGBR100-2786 2786 1000
A/ZGBR100-5350 5350 1000

L-5390

A/2600-042 A19/22-009 A19/22-009

L-2810 |
L-1520 |

Quality art. L h

L-5390

+

A/2200-042 A19/22-009 A19/22-009

L-2810
L-1520 |

A/2600-042 A19/22-009 A19/22-009

_[

EN 743305

EN 734130
90cm < Sm
100cm <12m
110cm <30m
~120cm  >30m

GS/8,76-
GS/8,76-1

VSG

GS/8,76-120x85-VSG-MILK |:”|:|

=brus/satin K320 £3 lesk/polish

07/13



A/6925-042

AL/0004-F
3

A19/5042-...

A19/5024-...

1200
GS/16,76-120x110-VSG
=brus/satin K320 &3 lesk/polish

;Tf 28 07/13



| profile glass railing
0-

: 1-3kN
L-------

+ +

AL/0004-F AL/0034-004-F

+ +

AL/0005-F AL/0035-005-F AL/0034-005-F

AL/0006-F AL/0034-006-F

=brus/satin K320 £} lesk/polish

A19/0004-...

A19/0004-...

A19/0006-...

GS/16,76-110x120-VSG

1200

1200

GS/16,76-120x110-VSG

1100

07/13 29




point system D

A/4100-042

'A/2747-000

A/6925-042

A/0747-000

'A/1746-000

A19/5042-...

GS/8,76-120x75-VSG
=brus/satin K320 &3 lesk/polish

= 30 07/13



A/4100-...

A/4000-...

A/O747-...

A/1746-000

A/2747-000

A/6925-042

v

07/13

31

=brus/satin K320 £3 lesk/polish



mlwll

7
%,

spigot railing system

H
h
h
v\ W v
D D
I |
Quality  Finish art. D H h d glass -t Quality  Finish art. D H h b d glass -t
AISI304 @ 100 165 61 49 12-17,52 AISI304 @ 70x70 186 81 40 34 12-17,52
32 07/13

=brus/satin K320 &3 lesk/polish




"

337 4 5% Aisi304 AISI316 | ZAMAK SAgTIN PO?SH " b " R Glast Gfﬁes
A/0746-042 v 50 15 M8 6-16 15
A/0746-000 v v 50 15 M8 6-16 15
A/0746-500 30 50 M8 616 15
A/0746-000-L v v 50 15 M8 6-16 15
A14/0746-000 v v 50 15 M8 6-16 15
A14/0746-042 v

[

MODEL D) ™ Glass
RAL AL D h M  Glasst
a7 33 7 AISI304 AISI316 ZAMAK ELULEENEE] hole

A/Q747-242 v 50 10  M10 818 20
A/0747-000 v v 50 10  MI10 818 20
A/Q747-500 50 50 M10 818 20
A/0747-501 50 40 M10 818 20
A/0747-000-L v v 50 10 M10 818 20
A14/0747-000 v v v 50 10  Mi0 818 20
A14/0747-242 v v v

MODEL J Art S S RAL AL D h M Glass t
xﬁ AISI304 AISI316 |ZAMAK VYN CIJTET]
A/0745-000 v v 4 v w00 EN me o6
@ o E
A/4000-042 v v v 60 30 9 12 28 12
A/4000-000 v v v 60 30 9 12 28 12
A/4100-042 v v v 60 30 9 12 28 12
A/4100-000 v v v 60 30 9 12 28 12
glass -t (mm) 6 6,76 8 8.76 1 2.76
A19/4041-008 A19/4041-009 A19/4041-010 A19/4041-011 A19/4041-012 A19/4041-013
A-DIN 7380-A2 M8x20

P =
e £
—
D+
D+ /
H h H h e /D /D
\@ \@
\ | S
r —1
'GS/ZP-101R_ 'GS/ZP-102R-180
A/2740-000 A/2747-000
h H D D t % h D Di t
= A/2740-000 150 200 40x40 50 10 = GS/ZP-101R 14,5 70 30 40 5
@Maead satin  A/2747-000 150 190 30 40 10 BN GS/ZP-102R 14,5 140 30 40 5

Sbrus/satin K320 €3 lesk/polish 07/13 33



A/42,4x2

A/6925-042

A/42x2-15x12

| v I/

A/12x1,5

A/5729-242

A/9301-242

A/0504-042

N

A/0727-242

A6/42-20-B

A/0830-...

A/0747-000

-

A/2600-042

N

GS/ZP-32x46-...

Atyp-glass

=brus/satin K320 &3 lesk/polish

34 07/13



\ glass system - standard UMAKOV

GLASS
PVB PVB PVB PVB  PVB B B
FLOAT FLOAT ESG FLOAT ESG ESG FLOAT | FLOAT| FLOAT ESG | FLOAT| FLOAT
APPLICATION | ACCESSORIES
(model)
Art.nr.
FLOAT ESG VSG VSG/ESG VSG/ESG VSG VSG/ESG
RAL
color / / -— -— -— -— -—
GS/P...
GS/D... - \/ - - / - -
GS/ZP.. - v v v v - -
GS/12,76-140x100-
GS/PR... — / - - VSG/ESG - -
(6.6.2)
20
22 -
25 -_— -_— -— L -—
26
20, 21
22
26
A/0746-...
A/O747-... - - - - ‘/ -— -
AL/000... / /
-_— -_— -_— -_—
SS...
SB...
SN. - - - - - / /
\ glass - technical informations
|:| FLOAT - 2ékladné sklo - &ire (bronz)
. ] I El A
SAMOVANA ZRAZENA HRANA BRUSENA HRANA \"\Wlm LESTENA HRANA
% PVB - bezpeénostna folia (Gira, mlieéna, ...) -TVARU -TVARU -TVARU
[I] VSG - lepené bezpecnostné sklo B _—
(viac vrstiev skla spojenych féliou
nazyvanych aj CONNEX) t'; . PVB Fodlia/ PVB Foil
t1 it
Hﬂ] ESG - kalenné sklo - &ire (bronz) Oznacenie/ Marking A 2 .3
Hrabka t2 (mm) 0,38 0,76 1,52
VG - polokalené sklo - ire (bronz) /Thickness t2 (mm) (1x0,38) (2x0,38) (4x0,38)
(tepelne spevnené)
Oznadenie VSG| 4.4.1 | 4.4.2 | 551 | 552 | 6.6.1 662 | 882 | 884 |888.22
ESGHST  -kalenne §klo s heat soak testom 1 2x4 2x4 2x5 2x5 2x6 2x6 2x8 2x8 3x8
gﬁ:‘ (E:;: Zs)p"”‘a""em“ rozbitiu), t2 03 | 076 | 038 | o076 | 038 | 076 | 076 1,52 | 2x0,76
T 8,38 8,76 10,38 | 10,76 | 12,38 | 12,76 | 16,76 | 17,52 25,52
Doplnky:
Sklo/Glass FLOAT, ESG, TVG, ESG/HST - opieskovanie
- farebné folie . )
Hruabka skla/ 3 4 5 6 8 10 12 15 19 - mot|v%/, vzory, loga, fotografie
Thickness of glass (mm) - osvetienie, ...
Tolerancia hrubky skla/ 0,2 0,2 0,2 0,2 0,3 0,3 0,3 0,5 1,0
Tolerance of glass thickness (+ mm)
Hmotnost/ 7,5 10 12,5 15 20 25 30 37,5 47,5
Weight (kg/m?)

=brus/satin K320 £} lesk/polish

35 1

07/13



handle system

A/6313-040

A/6925-040
2
A19/5042-... A/42,4x2 ‘WB/D42
A/12x1,5

A/6925-042

=brus/satin K320 &3 lesk/polish

07/13



s < GLASS t (mm)
L= Art. AL sain | polish 811 | 115135 16175 20215
A/6925-042 v v
A14/6925-042 v v
S A/6732-042 v v
t
A/6790-042 v v
T| h|
A/6313-042 v v
A/6303-042 v v
A/6925-640 4 v
P A14/6925-640 v v
) A/6732-640 v v
o0} — © QY
h o b - (q\]
T A/6790-640 v v Y 3\ S\ o
E : ] ¢ 9§ g
[ o = 2 o
A/6313-640 v v L e
[©) @ ) )
< < < <
A/6925-040 v v
] A14/6925-040 v v
40x40
] A/6732-040 v
’
\\ JT h A/6790-040 v v
[§)
b
R A/6313-040 v v
Y
A/6900-000 v v
h
b
A/6925-048 v GLASS t (mm)
811 | 11-13.5 | 15-17,5 |20,521,5
m A14/6925-048 v
t A/6732-048 v v
© 4 [T oV}
O — — N
g 58 g
T A/6790-048 v v g [ee] %_) [ce]
< <
. o ) o o
LR R
A/6313-048 v v () [e)) () [©)
< < < <
GLASS t (mm)
A/6925-080 v v 811 | 11-13,5 | 16175 20,5215
[e0] — © [QV]
t o — — A
Py § & § §
o o o o
U A/6732-080 v v - - - -
] 13 o) o) o)
< < ~ ~
[©) ) ) o
< < < <
t*
J l h AL/6904-018 v
b

=brus/satin K320 £} lesk/polish

07/13 37 b

-



handle system

»llel
<
le« D
| = o L
Art. AlSIS04 \Alsms satin  polish b h t 2000 | 3000 4000 | 6000

- A/10x1-6000 v v 10 1 v
A/12x1,5 v v 12 1,5 v
A/12x1,5-L v /o2 1,5 v
A/12x1,5-6000 v v 12 1,5 v
A/12x1,5-6000-L v /o2 1,5 v
A/14x1,5-6000 v v 14 1,5 v
A/16x1,5-6000 v v 16 1,5 v
A/20x1,5-6000 v v 20 1,5 v
A/33,7x2-6000 v v 33,7 2 v
A/42,4x2 v v 42,4 2 v
A/42,4x2-L v v/ 424 2 v
A/42,4x2-6000 v v 42,4 2 v
A/42,4x2-6000-L v v/ 424 2 v
A/48,3x2-6000 v v 48,3 2 v
A14/12x1,56000 ooV 12 1,5 v
A14/42,4x2-6000 VR 42,4 2 v
A/8 v v 8 v
A/10 v v 10 v
A/12 / v 12 v
A/40x40x2 v 7 ‘ 40 40 2 v
A/40x40x2-6000 v v 40 40 2 v
A/10x10 v v 10 10 v

|

A/15x5 v v 15 5 v
A/0,5x1000x2000 v v 1000 0,5 v |
A/0,8x1000x2000 v v 1000 0,8 v A
A/1,0x1000x2000 v v 1000 1 v
A/1,5x1000x2000 v v 1000 1,5 Yy 4 ‘
A/2,0x1000x2000 v v 1000 2 v ‘
A/0,5x1000x2000-L v v/ 1000 0,5 v
A/0,8x1000x2000-L v v/ 1000 0,8 v T
A/1,0x1000x2000-L  / v/ 1000 1 v
A/1,5x1000x2000-L  / v/ 1000 1,5 v
A/2,0x1000x2000-L v/ v/ 1000 2 v

38 07/13 =brus/satin K320 &3 lesk/polish



({‘ handle system

-

u
l«— D — ]
Py L(mm)
Art. - (\,/ Exotic @ D h u T monolit
buk(beech) dub(oak) 1500|2000 2400 2500 3000 4000
WB/D42-L... v 42 Vs VI
WD/D42-L... v 42 VR VI
WB/D42-L4000 v 42 v @
v v
WD/D42-L4000 v 42 v 2000+2000
WB/D42-CINK v/ 42 v @ ;
WD/D42-CINK v 42 s cca 600
WB/D50-L... v 50 v VI
WD/D50-L... v 50 v VI
P1/05-WB-D42-L... F&) v 42
P1/05-WD-D42-L... &} v 42
WB/40x40-L... v 40 v VI
WD/40x40-L... v 40 v VI
WB/6925-042 v 42 24 24 v
WD/6925-042 v 42 24 24 v

WB/6925-atyp =

WD/6925-atyp Fy

WB/21x7-DO-DYHA v 50 21 7 4 ‘

WD/21x7-DO-DYHA v 50 21 7 S weme 1mm
WB/6925-040 v 40 40 24 24 v
WD/6925-040 v 40 40 24 24 v
WB/6925-640 v 60 40 24 24 v
WD/6925-640 v 60 40 24 24 v
WB/31x7 v 62 43 31 7 v
WB/43x10 v 72 43 43 10
WD/31x7 v 62 43 31 7
40 17 30 17
P1/03 B /

50 17 30 20

3D/2D

.. handle

Sbrus/satin K320 € lesk/polish or/1s - 39



A/PR70x40-M12

A/PR12-1000-M12

@) (@]

! 1400

glass canopies \

A/PR70x40-60

GS/12,76-140x100-VSG/ESG

A/PR-60-M12

07/13

=brus/satin K320 &3 lesk/polish



\ glass canopies

SET GS/PR-R3-M12 SET GS14/PR-R
:
h 46 Yk A/PR70x40-M12 A14/120-R
M
AISI304 = Dimensions M L h a b c d = Dimensions @D1| M L h
il mm 12 |70-76] 60 | 70 | 40 | 44 | 20 satin — TTR B TR B
+ +
2 D1
c
" Adg S A/PR70x40-60 A14/120-70-R
|
L =
= Dimensions zp| h L a b c d = Dimensions op1|lep| L h
Sl 58 | 50 |70-76] 70 | 40 | 44 | 20 satin mm 201 70 oo | a7
+ +
A/PR-60-M12 A14/70-R
= Dimensions @ D1 M h L S Dimensions gD | M L h
satin o 50 5o 50 %0 satin mm 70 | 12 | 575 47
+ +
A/PR12-1000-M12 A14/12-940-R
=\ Dimensions M P Zd = Dimensions M L ad
satin mm 12 1000 12 satin mm 12 [1000] 12
150 +
° =X =%
Yo}
N a -
g g
3 y

1400

GS/12,76-140x100-VSG/ESG

GS/PR-R3-M12
-set/glass

1400

GS/12,76-140x100-VSG/ESG

GS14/PR-R-
set/glass

=brus/satin K320 £3 lesk/polish

07/13 41




—

NS270-INOX

=brus/satin K320 &3 lesk/polish

40

07/13



ﬁ segment universal

D NS art. Vs (min) | Vs(max) Ns D d h

Ne NS240-N1 140 240 395 108 | 138 4

NS240 | NS240-N2 180 240 395 108 | 310 @ 4

L - NS240 170 190 240 395 108 | 350 4

NS240-NV 170 190 240 395 108 | 350 4

v NS270-N1 130 270 395 132 | 128 ﬁ 4

— h NS270-N2 170 270 395 132 | 290 4

£30° NS270
o NS270 160 180 270 395 | 132 | 350 v v
/ y / NS270-NV 160 180 270 | 395 | 132 |350 | b v
Izl alternative 1 alternative 2
tL—
Vs t_*
+ -
Vs
Stair set NS240(t=40mm) Stair set NS270(t=40mm)

v(mm) NS240-N1 | NS240-N2 | NS240-Ny | NS240 v(mm) NS270-N1 | NS270-N2 | Ns270-Nv | NS270
min. | max. Alt. 1 [ Alt. 2 min. | max. Alt. 1| Alt. 2
180 1x - - £ - 170 1x - - - -

360 1x 1x - - - 340 1x 1x - - -
530 550 1x 1x 1x - - 500 520 1x 1x 1x - -
700 740 1x 1x 1x - 1x 660 700 1x 1x 1x - 1x
870 930 1x 1x 1x 1x 2x 820 880 1x 1x 1x 1x 2x
1040 1120 1x 1x 1x 2x 3x 980 1060 1x 1x 1x 2x 3x
1210 1310 1x 1x 1x 3x 4x 1140 1240 1x 1x 1x 3x ax
1380 1500 1x 1x 1x 4x 5x 1300 1420 1x 1x 1x 4x 5x
1550 1690 1x 1x 1x 5x 6x 1460 1600 1x 1x 1x 5x 6x
1720 1880 1x 1x 1x 6x 7x 1620 1780 1x 1x 1x 6x 7x
1890 2070 1x 1x 1x 7x 8x 1780 1960 1x 1x 1x 7x 8x
2060 2260 1x 1x 1x 8x 9x 1940 2140 1x 1x 1x 8x 9x
2230 2450 1x 1x 1x 9x 10x 2100 2320 1x 1x 1x 9x 10x
2400 2640 1x 1x 1x 10x | 11x 2260 2500 1x 1x 1x 10x | 11x
2570 2830 1x 1x 1x 11x | 12x 2420 2680 1x 1x 1x 11x | 12x
2740 3020 1x 1x 1x 13x | 12x 2580 2860 1x 1x 1x 12x | 13x
2910 3210 1x 1x 1x 14x | 13x 2740 3040 1x 1x 1x 13x | 14x

virtual studio applications: simulation template

assembly video
EEEEEEEEEEEEEEEEER

lground plan art.
NS240-sablona

NS270-sablona

olour

Faiing

handle

[
-
c
o

www.umakovshop.com

=brus/satin K320 07/18

43

&3 lesk/polish



crossbar holders

A/0830-000

A/0823-042

A/0830-042

A/0855-042

=brus/satin K320 &3 lesk/polish

A/0743-000

07/13



crossbar holders

=brus/satin K320 £3 lesk/polish

[é :
- ]
D =5
o]
P S
z\ L7
} INOX |ZN
%ILIG
d (mm) @ (mm) Quality Finish
art. S (mm) D (mm) TS
Bl N M A o570 (924 488 = AISI304 AISI§316 ZAQN?AK Et:l.i'sh
A/0825-033 4 4 19-20 22 v
A/0825-033-L v 4 19-20 22 v 4
A14/0825-033 v v 19-20 22 v
A14/0825-033-L v v 19-20 22 v v
A/0825-042 v 4 20 22 v
A/0825-042-L v 4 20 22 v 4
A14/0825-042 v v 20 22 v/
A14/0825-042-L v v 20 22 v v
A/0825-048 v/ 4 20 22 v
A/0825-048-L v v 20 22 v 4
A14/0825-048 v v 20 22 v/
A14/0825-048-L v 4 20 22 v v
A/0825-000 4 v/ 20 22 v
A/0825-000-L v 4 20 22 v v
A14/0825-000 v 4 20 22 v
A14/0825-000-L v 4 20 22 v v
A/0830-033 4 v 19-20 22 v
A/0830-033-L 4 v 19-20 22 v v
A14/0830-033 v v 19-20 22 v
A14/0830-033-L 4 4 19-20 22 4 4
A/0830-042 4 4 20 22 v
A/0830-042-L v v 20 22 v 4
A14/0830-042 4 v 20 22 v
A14/0830-042-L v 4 20 22 4 v
ZN-SATIN/0830-042 v v 20 22 v
A/0830-048 4 4 20 22 v
A/0830-048-L v v 20 22 v v
A14/0830-048 4 4 20 22 v
A14/0830-048-L 4 4 20 22 v v
A/0830-000 v 4 20 22 4
A/0830-000-L 4 4 20 22 v v
A14/0830-000 v 4 20 22 4
A14/0830-000-L v v 20 22 v v
A/0835-033 v v 19-20 22 v
A/0835-033-L 4 v 19-20 22 v v
A14/0835-033 v 4 19-20 22 4
A14/0835-033-L 4 v 19-20 22 v v
A/0835-042 4 4 20 22 4
A/0835-042-L 4 v 20 22 v v
A14/0835-042 4 v 20 22 4
A14/0835-042-L 4 4 20 22 v v
A/0835-048 4 v 20 22 4
A/0835-048-L 4 4 20 22 4 4
A14/0835-048 4 4 20 22 v
A14/0835-048-L 4 4 20 22 v v
A/0835-000 4 4 20 22 4
A/0835-000-L 4 4 20 22 v v
A14/0835-000 4 4 20 22 v
A14/0835-000-L v v 20 22 v v
A/0840-033 4 4 21-22 25 v
A/0840-033-L 4 4 21-22 25 v 4
A14/0840-033 4 v 21-22 25 4
A14/0840-033-L v v 21-22 25 v v
A/0840-042 v v 22 25 4
A/0840-042-L 4 v 22 25 v v
A14/0840-042 4 v 22 25 v
A14/0840-042-L v 4 22 25 4 v
A/0840-048 v v 22 25 4
A/0840-048-L 4 v 22 25 v v
A14/0840-048 4 4 22 25 v
A14/0840-048-L v v 22 25 v v
A/0840-000 v 4 22 25 4
A/0840-000-L 4 4 22 25 v v
A14/0840-000 v 4 22 25 4
A14/0840-000-L 4 v 22 25 v/ v
07/13

45



crossbar holders connector

1 A-DIN 7991-A2 M5x16 0

} INOX |ZN
Quality Finish
art. S (mm) D (mm) ~
i G S AISI304 AISI316 | ZAMAK satin goli’sh
A/0826-033 4 v 19-20 22 v/ v
A/0826-033-L 4 v/ 19-20 22 v 7
A14/0826-033 4 v 19-20 22 v v/
A14/0826-033-L v v 19-20 22 v v/
A/0826-042 4 4 20 22 4 v
A/0826-042-L 4 v/ 20 22 v 7
A14/0826-042 4 v 20 22 v v/
A14/0826-042-L v 4 20 22 4 4
A/0826-048 v v 20 22 4 v
A/0826-048-L 4 4 20 22 v/ 4
A14/0826-048 4 4 20 22 v v
A14/0826-048-L 4 4 20 22 4 4
A/0826-000 4 v 20 22 v v
A/0826-000-L 4 4 20 22 v 4
A14/0826-000 4 4 20 22 v v
A14/0826-000-L v 4 20 22 v v/
A/0831-033 4 4 19-20 22 v v/
A/0831-033-L 4 v/ 19-20 22 v 7
A14/0831-033 v v 19-20 22 v v/
A14/0831-033-L 4 4 19-20 22 v 4
A/0831-042 v v 20 22 v v
A/0831-042-L v 4 20 22 4 4
A14/0831-042 v v 20 22 v v/
A14/0831-042-L 4 4 20 22 v v/
A/0831-048 v 4 20 22 v/ v
A/0831-048-L 4 v/ 20 22 v v
A14/0831-048 v 4 20 22 v v/
A14/0831-048-L 4 4 20 22 v v/
A/0831-000 v 4 20 22 4 v
A/0831-000-L 4 4 20 22 v v
A14/0831-000 v v 20 22 4 v
A14/0831-000-L v v 20 22 v 7
A/0836-033 v 4 19-20 22 v/ v
A/0836-033-L 4 v 19-20 22 v/ v
A14/0836-033 4 v 19-20 22 v v
A14/0836-033-L 4 4 19-20 22 v v/
A/0836-042 v 4 20 22 v v/
A/0836-042-L v v 20 22 v/ v
A14/0836-042 4 4 20 22 v v/
A14/0836-042-L v 4 20 22 v v/
A/0836-048 v v 20 22 v/ v/
A/0836-048-L v 4 20 22 v/ v
A14/0836-048 v 4 20 22 4 v/
A14/0836-048-L v 4 20 22 v v/
A/0836-000 v 4 20 22 v 4
A/0836-000-L v 4 20 22 v/ v
A14/0836-000 4 v 20 22 v v
A14/0836-000-L v v 20 22 v 4
A/0841-033 v 4 21-22 25 v/ v
A/0841-033-L 4 4 21-22 25 4 v/
A14/0841-033 v v 21-22 25 v v/
A14/0841-033-L 4 4 21-22 25 4 v
A/0841-042 v v 22 25 v v
A/0841-042-L v 4 22 25) 4 v
A14/0841-042 v 4 22 25 v v/
A14/0841-042-L 4 4 22 25 4 v
A/0841-048 v v 22 25 v v
A/0841-048-L 4 4 22 25) 4 v
A14/0841-048 v v 22 25 v v
A14/0841-048-L v 4 22 25 v 7
A/0841-000 4 4 22 25 v v/
A/0841-000-L 4 4 22 25 v/ v
A14/0841-000 v v 22 25 4 v/
A14/0841-000-L v v 22 25 4 v

46 07/13

=brus/satin K320 &3 lesk/polish



crossbar right

,3%‘
/ ?
0 +
- EONTESTESEE | | ™.
lcd s
/ ?
INOX [(ZN
%ILIQ
d (mm) & (mm) Quality Finish
art. S (mm) D (mm) 71
10 12 [ 14 |16 P = AISI304 AISI316 | ZAMAK satin E;Iish
A/0823-033 v 4 19-20 22 v v
A/0823-033-L v 4 19-20 22 v 7
A14/0823-033 4 4 19-20 22 v v
A14/0823-033-L v 4 19-20 22 4 4
A/0823-042 v 4 20 22 v v/
A/0823-042-L 4 4 20 22 v v
A14/0823-042 v 4 20 22 v v
A14/0823-042-L v 4 20 22 v v
A/0823-048 v 4 20 22 v v
A/0823-048-L v v 20 22 v v
A14/0823-048 v 4 20 22 v v
A14/0823-048-L 4 4 20 22 v v
A/0823-000 v 4 20 22 v v/
A/0823-000-L 4 v/ 20 22 v 4
A14/0823-000 v v/ 20 22 v v
A14/0823-000-L 4 4 20 22 v v/
A/0833-033 4 4 19-20 22 4 v
A/0833-033-L 4 4 19-20 22 v v
A14/0833-033 4 4 19-20 22 v v
A14/0833-033-L 4 4 19-20 22 v v
A/0833-042 4 4 20 22 v 4
A/0833-042-L 4 [4 20 22 v v
A14/0833-042 4 v 20 22 v v
A14/0833-042-L 4 4 20 22 v v
A/0833-048 4 4 20 22 v v/
A/0833-048-L 4 4 20 22 v v
A14/0833-048 4 4 20 22 4 v
A14/0833-048-L 4 4 20 22 v v
A/0833-000 4 v 20 22 v 4
A/0833-000-L 4 v 20 22 v 4
A14/0833-000 4 4 20 22 v v
A14/0833-000-L v 4 20 22 4 4
A/0838-033 4 v 19-20 22 4 v
A/0838-033-L 4 4 19-20 22 v v
A14/0838-033 4 4 19-20 22 v v/
A14/0838-033-L 4 4 19-20 22 v v
A/0838-042 v 4 20 22 v v/
A/0838-042-L 4 4 20 22 v v
A14/0838-042 4 4 20 22 v v
A14/0838-042-L 4 4 20 22 v v
A/0838-048 4 4 20 22 4 v
A/0838-048-L 4 4 20 22 v v
A14/0838-048 4 4 20 22 4 v
A14/0838-048-L 4 4 20 22 v v
A/0838-000 4 4 20 22 v /
A/0838-000-L 4 4 20 22 v v
A14/0838-000 4 4 20 22 v v
A14/0838-000-L 4 v/ 20 22 4 4
A/0843-033 4 4 21-22 25 v 4
A/0843-033-L 4 4 21-22 25 v 4
A14/0843-033 4 v 21-22 25 v 4
A14/0843-033-L v/ v 21-22 25 v 7
A/0843-042 v/ v 22 25 v v
A/0843-042-L v 4 22 25 v 4
A14/0843-042 4 v 22 25 v v
A14/0843-042-L v 4 22 25 v v/
A/0843-048 4 v 22 25 4 v
A/0843-048-L 4 4 22 25 v 4
A14/0843-048 4 v 22 25 4 v
A14/0843-048-L v 4 22 25 v v
A/0843-000 4 4 22 25 4 v/
A/0843-000-L 4 v/ 22 25 4 v
A14/0843-000 4 4 22 25 4 v
A14/0843-000-L v 4 22 25 v 4

Zbrus/satin K320 €3 lesk/polish 07/13 47



crossbar left

‘%‘
@\
| ' D =)
sll"%é -/!:mmmw "=
. BPRG e | o
e
Qi\ , -
ED INOX |ZN
#le
d (mm) & (mm) Quality Finish
art. S (mm) D (mm) = ey
10 | 12 | 14 | 16 PEERAPCPY ST a AISI§304 AIS%16 S:ﬁn ;ﬁ'sh
A/0822-033 v v 19-20 22 v
A/0822-033-L v 4 19-20 22 v/ v/
A14/0822-033 v 4 19-20 22 v v/
A14/0822-033-L 4 v 19-20 22 v v
A/0822-042 v 4 20 22 v v/
A/0822-042-L 4 4 20 22 v/ v/
A14/0822-042 v v 20 22 v v
A14/0822-042-L 4 v 20 22 v v
A/0822-048 4 v 20 22 v v/
A/0822-048-L v v 20 22 v/ v/
A14/0822-048 v 4 20 22 4 4
A14/0822-048-L 4 v 20 22 v v
A/0822-000 4 4 20 22 v v/
A/0822-000-L v 4 20 22 v/ v/
A14/0822-000 v 4 20 22 v v
A14/0822-000-L v v 20 22 v/ v
A/0832-033 4 v 19-20 22 4 v/
A/0832-033-L 4 v 19-20 22 v/ v/
A14/0832-033 4 v/ 19-20 22 v v/
A14/0832-033-L 4 4 19-20 22 v 7
A/0832-042 4 v 20 22 v v
A/0832-042-L v v 20 22 4 4
A14/0832-042 4 4 20 22 v v
A14/0832-042-L v v 20 22 v v/
A/0832-048 v 4 20 22 v v/
A/0832-048-L 4 4 20 22 4 v/
A14/0832-048 4 4 20 22 4 v
A14/0832-048-L v v 20 22 v v
A/0832-000 v 4 20 22 v v
A/0832-000-L 4 4 20 22 4 v/
A14/0832-000 4 4 20 22 4 v
A14/0832-000-L v v 20 22 4 v
A/0837-033 v v 19-20 22 v v
A/0837-033-L 4 v 19-20 22 4 /
A14/0837-033 v v/ 19-20 22 v/ v/
A14/0837-033-L 4 v/ 19-20 22 4 v
A/0837-042 4 4 20 22 v v/
A/0837-042-L v 4 20 22 4 v/
A14/0837-042 v v/ 20 22 v v/
A14/0837-042-L v v 20 22 v v
A/0837-048 v v 20 22 4 v/
A/0837-048-L v v/ 20 22 v v
A14/0837-048 4 4 20 22 v v/
A14/0837-048-L 4 4 20 22 %4 v
A/0837-000 v v 20 22 4 v
A/0837-000-L v v 20 22 v/ v
A14/0837-000 v 4 20 22 v 4
A14/0837-000-L v v 20 22 4 4
A/0842-033 4 4 21-22 25 v/ v
A/0842-033-L 4 v 21-22 25 4 v/
A14/0842-033 4 4 21-22 25 v 4
A14/0842-033-L 4 v/ 21-22 25 v v/
A/0842-042 v v 22 25 v v/
A/0842-042-L 4 v 22 25 v v/
A14/0842-042 4 v 22 25 4 v
A14/0842-042-L 4 4 22 25 4 v
A/0842-048 4 4 22 25 v v/
A/0842-048-L 4 v 22 25 v v/
A14/0842-048 4 4 22 25 4 v
A14/0842-048-L 4 v 22 25 4 4
A/0842-000 v v 22 25 v v/
A/0842-000-L v 4 22 25 v v/
A14/0842-000 4 4 22 25 v v/
A14/0842-000-L v v 22 25 4 4

48 07/13 =brus/satin K320 &3 lesk/polish



\ crossbar holders

Quality

42,4 A/0850-042 22
sa i“ - A/0850-000 22
42,4 A/0850-042-L 22

(I

-

()

polish  _ a/0850-000-L 22

° N
\ d1

d

12
12
12
12

art. d di

A/0830-012 22 12 12

A/0830-014 22 12 14

A/0830-016 22 12 16

A/0835-016 25 14 16
A/0840-016 25 16 16

([

AISI304

14
o
=)
=)

SN

AISI304 % 42,4x2 A5/08 12 8,5 46 34,5
satin

@\ %‘

o

k]

42,4 A/0743-042 25

(I

AISI304 S
Sauy - A/O743-000 25

/

28
28
28
32

32

39

39

35
35
35
35

15

15

AISI304 = 20 A/20-frame 1,5-2 3000
satin

42,4 A/0855-042 22 12 57

satin _  7/0855000 22 12 57
© 42,4 A/0855-042-L 22 12 57
polish _ p/0855.000-L 22 12 57

AISI304 % 16 A/0746-016 25 16 6-12 20
satin

%)

Quality Finish %)

Sl | 424 A/0801-042 6
satin

L

20 A/20-301-FRAME. 30 25
in | 20x20 A/20x20-301-FRAME 30 25

= ([

Y]
=3

AISI304
S

ey s
BE

AISI304 = 20x20 A/20x20-frame 1,5-2 3000
satin

=brus/satin K320 £3 lesk/polish

07/13 49



handrail brackets H

'A/0716-242 'A/0710-242

n |

'A/0718-242

A/0727-242

=brus/satin K320 &3 lesk/polish

A/0111-000

07/13

50




handrail brackets

z\
D D
h
h
M . M/ b

33,7 A/0111-033 75x50 60 8 AISI304 = A/0111-000 75x50 60 8

42,4 A/0111-042 80x52 60 8 LACIERN  satin @ A14/0111-000 75x50 60 8

48,3 A/0111-048 75x50 60 8

42,4 A/0111-042-L 75x50 60 8

48,3 A/0111-048-L 75x50 60 8
AISI316 a‘m A14/0111-042 75x50 60 8

@\
D D
h h
/ /
d b d | b
nish art. bxh D d !
7 33,7 A/0112:033 75x50 60 6,5 AISI304 sfin A/0112-000  75x50 60 6,5
sagtin 42,4 A/0112-042 78x50 60 5,2
AISI304 48,3 A/0112-048 75x50 60 6,5
() -042-
polish 42,4 'A/0112-042-L 75x50 60 5,5

AISI316 sﬁn 42,4 A14/0112-042-L 75x52 60.5,2

Q\

D

h
d/

AISI304 = 42,4 A/0112-042-A 75x50 60 5,2
satin

D D
h
f i h
d /
b M <_b
art. b xh 4
__ A/0113-000 75x50 5 60 INGELYS = A/0114-000 75x46 60 8
satin | A/0113-000-B 75X50 5,5 60 satin — =
AISI304 A/0113-000-R 75x48 5,5 58
poiish A/0113-000-L 75x50 5 60
\b‘ b
s AN
cM ‘ / x ‘
h \ h
a Y/
AISI304 Sl 424 A/4111-042 92x50 40x60 8 AISI304 S A/4111-000 90x44 40x60 8
satin satin

Zbrus/satin K320 € lesk/polish 07/13 51



\ H
Quality %] b H
I 33,7 A/0135-033 80 40-80
in 42,4 A/0135-042 80 40-80
AISI304 48,3 A/0135-048 80 40-80

42,4 A/0135-042-L 80 40-80
42,4 A14/0135-042 80 40-80

AISI316 —
42,4 A14/0135-042-L 80 40-80

b H
= 42,4 A/0145-042 80 40-90

48,3 A/0145048 80 40-80
© 483 A/0145-048-L 80 40-80

S| 424 A14/0145-042 80 40-80
N
\%\
|

M

g b H
AISI304 = 42,4 A/0145-042-B 80 40-80
satin

% b H
33,7 A/0155-033 80 40-80
42,4 A/0155-042 80 40-80
42,4 A/0155-042-B
48,3 A/0155-048 80 40-80
42,4 A14/0155-042 80 40-80

14
o
=
=)

D
33,7x2,0
42,4x2,0
48,3x2,0

42,4x2,0
42,4x2,0
42,4x2,0

50 8

33,7 A/0145-033 80 40-80

50 8
50 8

50 8
50 8

D M
50 8

D t
50 12-30
50 12-30

50 12-30
50 12-30

AISI304 = A/0135-000 80 40-80 42,4x2,0
satin

AISI304
S

o

i

n

handrail brackets

b H

D

b H D M

AISI304 = A/0145-000 80 40-80 50 8
satin

b H D

t

A/0155-000 80 40-80 50 12-30

52 07/13

=brus/satin K320

o
W

lesk/polish



handrail brackets

d H
d
\ H
D
<> D
Q - H D d %] H D d
AISI304 §‘A/o7oa-ooo 62 60 5 33,7 A/0708-033 60 60 5
S AISI304 = 42,4 A/0708-042 60 60 5
satin 42,4 A/0708-042-B 60 60 5,5
48,3 A/0708-048 62 60 5
/d /d
D
L L
D L d
art. D L d =
33,7 A/0625-033 25 41 6 satin 2000 2B GBS €
=) 42,4 A/0625-042 25 425 6
SISSo8 satin 42,4 A/0625-042-B+ 25 55 8
48,3 A/0625-048 25 425 6
d
\ D
d /
D %]
%)}
b
b
%] D b d
33,7 A/0505-033 85 30 5 Quali (%) art. D b d
= 42,4 A/0505-042-B 80 22 5 = )
satin 42,4 A/0505-042 95 30 5 AISI304 424 PUTTS o0 25 85
AISI304 48,3 A/0505-048 100 35 5 O 42,4 A/0504-242-L 50 25 8,5
42,4 A/0505-042-L 95 30 5 B polish
poel?sh 42,4 A/0505-042-B-L 81,6 24,5 6,5 AISI316 42,4 A14/0504-242 50 25 8,5
48,3 A/0505-048-L 100 35 5 —
S 42,4 A14/0505-042 95 30 5
satin
AISI316 42,4 A14/0505-042-L 95 30
pocl?sh 42,4 A14/0505-042-B-L 81,5 24,5 6,5
48,3 A14/0505-048-L 100 34 5
5)
y: 18)
D
A20/0790-242-R A/0312-242
15
w
> D b d
= A6/85x42x6-S A20/0790-242-R A/0312-242
< 42,4 A/0506-242 85 30 5
satin
07/13 53 Yz

=brus/satin K320 £} lesk/polish



H
M
Quality F
33,7 A/0717-233 79
= 42,4 A/0718-242 81

(

o
=

AISI304

in 4 48,3 A/0718-248 79

48,3 A/0719-248 80
’ 42,4 A/0718-242-L 79
polish
42,4 A14J0718-242 79
AISI316 SO

© 404 A14/0718242L 79
polish

o

H
- 33,7 A/0710-233
AISIS04 - pu 42,4 A/0710-242
AISI316 = 42,4 A14/0710-242 78,5 42,4%2,0
satin
Q\
H
_ 33,7 A/0709-833 79
sftin 42,4 A/0710-842 80
48,3 A/0711-848 79
© 42,4 A/O710-842-L 78,5
poﬁsh
= 42,4 A14/0710-842 79
satin

A

42,4 A/0716-242 57

AISI304
S

o
=F

33,7x2,0
42,4x2,0
42,4x2,0
48,3x2,0

42,4x2,0
42,4x2,0

42,4x2,0

78,5 42,4x2,0

33,7x2,0
42,4x2,0
48,3x2,0

42,4x2,0
42,4x2,0

42,4x2,0

handrail brackets

H
@
A/0717-200 79 33,7x2,0
_ A/0718-200 81 42,4x2,0
szn A/0718-200-B 78,5 42,4x1,5
A/0719-200 80 48,3x2,0
A14/0718-200 79 42,4x2,0
H

o

Q

79 42,4x2,0

= 7/0710-200
satin

o

o]

Finish H

AISI304 /0700-042 76 42,4x2,0

..

INGELYS = A/0716-000 57
satin

42,4x2,0

54 07/13

=brus/satin K320

o
W

lesk/polish



H handrail brackets

%) art. H D d
33,7 AjOT28233 3 33,7x2,0 85
42,4 A/0727-242 5,2 42,4x2,0 8,5 AISI304

A/0727-242-B 6,5 42,4x2,0 8,5
0727-242-C 9,7 42,4x2,0 8,5
BN - ooco o IECH = | 337 A14/0727-233

042-BL 7,4 42,4x2,0 8,5

AISI316‘ € 0727-242 55 42,4x2,0 8,5

Quality Finish & art. H D d
33,7 A/0727-233
e /

42,4 A/O727-242-S 6,5 42,4x2,0 6

Quality  Finish (%}
IS = | 402 A/o714-042

=brus/satin K320 £3 lesk/polish 07/13 5 5




handrail brackets

4 H
" /
<M
Quality .
A Ji7 £/0818:033 A/0818-000 73 10

satind 42:4.A/0818-042 7110 _

‘ 48,3 A/0818-048 7110 sf“n A/0818-000-C 75 8

OFEE N/ 0518-0421L. | 71 10 AISI304 A/0818-000-B 71,5 10
polish 42 4 A/0818-042-B-L 71,5 10

©  A/0818-000-L 71,5 10

e 42,4 A14/0818-042 71 10

AISI316 42,4 _A14/0818-042:8 715 10 e ¢ 10

D

AISI316

© 424 A14/0818042L 71 10 Il £ 14/0818000 73 10
polish
Q;\ o
)
H
M/ b
=—M
_H M
I o | 424 A/0810-942 74 10 42,4 A6/42-5535 55 36 6
42,4 A6/42-55-35B 55 32 6
M W \
H
H
. @
Solid
ish t. H

AISI304 = 42,4x2,0 A/5736-242 3 8 AISI304 §' 42,4x2,0 A/5734-242 8,5 8
satin sati A

N

H M \
H
%] ‘ @
AISI304 sa%tin 42,4x2,0 A/5735-242-R1 58 8 20 42,4x2,0 A/5735-242 6 10
INSELYE satin | 40 4300 A/5735-242R 6 8

48,3x2,0 A/5735-048-R
42,4x2,0 A14/5735-242-R 6 8

1D

AISI316

satin

56 07/13 =brus/satin K320 &3 lesk/polish



handrail brackets

BN
t /

L3

Quality F %) axb t axb t
B 33,7 A/1800-033 64,5x25 3,7 = A/1800-000 63,5x24 4
aatin | 424 A/1800:042  64x24 37 -
L 48,3 A/1800-048 64x25 3,7
ooogfl 42,4 A1800-0424 6325 3,7

@3
I kK 1 _Ka;;l S — I//J'A_ V. o ///J
[\\= a <-A/081...
<-A/081... !
i ut. axb t C . axb t
. ESeGAL AISI304 sa%tin A/1890-000 43x24,5 4,3
LSELGE S | 424 A/1890-042 43x24° 28 9
42,4 A/1890-042-B+42,4x25 2,4 10
_ M1 \ _
M1 _———
- ED H = <D H
M v M E——
T T
Qu nish art. |
A =  A/0812-068 14 68 10 6 A/0811-068 14 68 10 6
satin  A/0812-068S1 14 80 8 6 AISI304 'A/0811-068-S1 14 75 8 6
A/0811-068-S2 12 68 8 6
& <
16) "
A-DIN 7991-A2 M6x8
+ / TA-PH 5x20
1
A/1800-0... A/1800-000 A/1890-042 A/1890-000 ™ S
+ + E “; :
’ 1 1
] ' A/0818-042
i i &
P )
: ' J9mm
M10 M8 ! i s
A/0812-068 A/0811-068 A/0812-068-S1 A/0811-068-S1 : E -
@5 E . TAj1732-048
/= =
1 1
1 A/5735-242 A/5735-242-R A/5736-242 [ W
Zbrus/satin K320 € lesk/polish 07/13 57



flush angles g

'A/0302-012

A/0302-242

A/0305-242

A/0220-025

=brus/satin K320 &3 lesk/polish

A/0303-242

07/13




| flush angles - fix

(%) H %)
H
—_—
Quality % H %} H
33,7x2,5 A/0305-233 36 - 33,7x2,0 A/0303-233 25
. 3 = 424x2,0 A/0303-242 31
o 42,4x2,0 A/0305-242 30 satin o550 A/0303.248 T
PN sating, 42,4x2,0 A/0305-242-S 42 © 42,4x2,0 A/0303-242-.L 30,5
48,3x 2,0 A/0305-248 38 polish 48,3x2,0 A/0303-248-L
©  42,4x2,0 A/0305-242-L 30 sﬁn 42,4x2,0 A14/0303-242 30
polish 48 3x 2,0 A/0305-248-L 35 ()
3 Y 42 4x2,0 A14/0303-242-L 30
=  42,4x2,0 A14/0305-242 45 polish
satin 42 4x2,0 A14/0305-242-B 30
AISI316 === ~—
94Xz, A -
©  424x20 A14/0305-242L 30
polish 48 3x 2,0 A14/0305-248-L 35
D 42 4x2,0 ZN-SATIN/0305-242 30
satin
%) (%)
H L
H PR
%) art. H %]
33,7)(2,5 A/0301-233 L 33’7)(215 A/1305-233
=) | 42,4x2,0 A/0301-242S 45 ~
AISI304 satin 42,4x2,0 A/0301-242 30 AISI304 sa?tin 42,4x2,0 A/1305-242 48 69
42,4x2,0 A/0301-242-B 48.3x2,0 A/1305-248
©  424x2,0 A/0301-242-L 30,5
polish y

satin

[
Y]
==
=1

3
=0
=

A0

14
o
=
=1

(%]

T
Q

H ~inish % art. H

42,4x2,0 A/0300-242 40 ENx2.5 Al
42,4x2,0 A/0307-242 30

42,4x2,0 A/0307-242-S 30

2
=,

©  424x2,0 A/0307-242L 30
polish y
=/ 42,4x2,0 A14/0307-242
satin

%) H %)
33,7x2,5 A/0304-233 5
42,4x2,0 A/0304-242 31
42,4x2,0 A/0304-242-L 29
42,4x2,0 A14/0304-242

(D

Y
B
B

H

42,4x2,0 A/0308-242 30

=brus/satin K320 £3 lesk/polish

07/13

59



flush angles - fix

] :

Quality D art. d h
42 WB/D42-90° 14 100
45 WB/D45-90° 14 100
buk(beech) 50 WB/D50-90° 14 100
42 WD/D42-90° 14 100

L 45 WD/D45-90° 14 100
dub(oak) 50 WD/D50-90° 14 100
50 WM/D50-90° 14 100
50 WH/D50-90° 14 100

Quality D art. d h
WB/D42-45°
WB/D45-45°

dub(oak) 50
50

= 12x1  A/0305-112 9 28 - = y
AISI304 = T TN AISI304 satin 12 A/0220-225 25

satin 15415 A/0305-012 9 28

¢ d
— \
b D
b b
Quality D art. b d

42,4 A20/0790-042-R 5 35

Qualit: Finish D rt. d b

+ + + + + + + +

WB... WOOD/M5-D A20/0790-042-R A-DIN 7380-A2 M5x12 A/0305-042 A-DIN 7380-A2 M5x12 A20/0790-042-R WOOD/M5-D WB...
WD... WD...
/AN
=3
[
(5))
£A/0302-042 =
ws_.. WOOD/M5-D A20/0790-042-R  A-DIN 7380-A2 M5x12 ADIN 7880-A2 M5x12  A20/0790-042-S WB...
—AD... WD...
e
1
)

4 60 07/13 =brus/satin K320 €3 lesk/polish



flush angles - flex

H
7 H
H
%] M

C o} (%) H %]
33,7x2,0 A/0302-233 21,5 - = §
A2 420 A/0302.242 o Stk s5fin | 424x20 A/0312242 30
48,3x2,0 A/0302-248 29
| 42,4x2,0 A/0302-242-L 26,5
42,4x2,0. A/0302-242-B-L 27
48,3x2,0 A/0302-248-L
42,4x2,0 A14/0302-242 27

AlSI316 o 42,4x2,0 A14/0302-242-L 27

i 48,3x2,0 A14/0302-248-L 30
h,
W‘ H /D
L %)
%)
Zn

%) H %) H D

42,4 A7/42-55-A 25,5 50

AISI304 sa?tin 42,4x2,0 A/0302-042 447 AISI304 A

=
5

%) H D Quality Finish ¢ art. H

S ) AIS| 304
LEEY i | 424 A7/4255 30 55 15 o L@ E 57

0-

80-180°

Quality D art. H
42 WB/D42-D55-klb 55
buk(beech)
—~
42 WD/D42-D55-kIb 55]

dub(oak)

Sbrus/satin K320 &3 lesk/polish s 1



flush angles - flex \

%@ ' %@ |

Quality %) H D %] H D
A/0302-010 34,5 14 - ARG
2/0302.012 6 16 AISI304 ISR 12 A/0302-012-B 36 16
A/0302-014 37 18
A/0302-012-L 36 16

A

(Y
|

A14/0302-012 36 16
A14/0302-012-L 30 13,7

- 0.

@ t, H D @ H
AISI304 12 A/0302-012-8 30 14 AISI304 sa%tin 16x1,5 A/0302-016 11
12 A14/0302-012-S

AISI316

3
Y
=
=1

J/D
0

= 12 A/0012-012 102 14
AISI304 <
satin 12 A/0012-012-B 70 14

62 07/13 =brus/satin K320 &3 lesk/polish



\ connectors

_ 33,7)(2,0 A/0790-233
=4 42,4x2,0 A/0790-242

‘28,3x2,0 A/0790-248
42,4x2,0 A/0790-242-L

Quallty

AISI316

42,4x2,0 A14/0790-242

~2

278
4% e

10 A/0040-010 40
_ 12 A/0040-012 40
ot 12 A/0040-012B 40
AISI304 14 A/0040-014 40
16 A/0040-016 40
O 12 A/0040-012-L 40
polish
b
=
4l
b d

42 A7/42-11-A 10 39
I 50 A7/50-11-A 8 48,7

(Y
=3

AISI304
S

5,5

5
5

D
12
14
14
16
18

14

B

1x45°

1x45°
3x30°
1x45°

1x45°

1x45°

H D d
12x1,56 A/0041-012 2 12 9

AISI304 IS
satin

T ke

Flnlsh %] b d

AISI304 ‘42 A7/42-11 10 M

D 42

4

RGM4210

0

+

WOOD/M8-D

+ +

RGM4210

+ +

WOOD/M8-D

=brus/satin K320 £} lesk/polish

07/13 63




end caps

A/5729-242 | A/5730-242 {

'WB/D42-86°

A/1732-042

=brus/satin K320 &3 lesk/polish

07/13

64




end caps

H
® .
t
Hollow. Solid
Quality
33,7x2,0 A/5729-233 6 1,5 33,7x2,0 A/5728-233 5
= 42,4x2,0 A/5729-242 6 3
satin | 42,4x2,0 A/5729-242-B 8 2 asizos TG 42,4x2,0 A/5728-242 6
48,3x2,0 A/5729-248 8 2 satin 42,4x2,0 A/5728-242-A 9
po? 42,4x2,0 A/5729-242-L 6 2 42,4x2,0 A/5728-242-B 4
i 42,4x2,0 A14/5729-242 6 1,5
AISI316
o. 42,4x2,0 A14/5729-242-L 6 1,5
ZAMAK 42,4x2,00 ZN-SATIN/5729-242 6
H H
%) (& \
Sheet Solid
arl S
AISI304 saétin 42,4x2,0 A/5727-242 7 1 33,7x2,0 A/5731-233 2,5
AISI304 % 42,4x2,0 A/5731-242 4,0
satin
42,4x2,0 A/5731-242-A 4,5
H
ol I
t
Solid

AISI304 gt 42,4x2,0 A/5732-242 3
satin AISI304 S

ish %) art.
ti

?n‘ 42,4x2,0 A/5733-242 21

Hollow

33,7x2,0 A/5730-233
satin | 42:4x2.0 A/5730-242 225 1,5
AISI304 48,3x2,0 A/5730-248 23 4

42,4x2,0 A/5730-242-L 21 25

(D

o =

polish

=brus/satin K320 &3 lesk/polish 07/18 65



L

42,4 x2 A/0739-242-S 65

H
65

42,4 x2 A/O739-242-L. 66 63,5

end caps |

@ art. d L H

42 WB/D42-86° 14 97 90
) 45 WB/D45-86° 14 97 88
buk (beech) 50 WB/D50-86° 14 99 95

42 WD/D42-86° 14 97 90
45 WD/D45-86° 14 97 88
WD/D50-86° 14 99 95

~
©
dub (0ak) 50

. 66

%) D L H Quality o art. D L H
AISI304 s:tin 42,4 A9/42 545 43,5 42 ( 42 WB/D42-G55 55 50 35
buk (beech)
\ 42 WD/D42-G55 55 50 35
dub (oak)
A7/42-11-A
Quality Finish @ art. d L H Quality %) art. d L H
= 42 WA/D42-G2 14 21 7,5
AISI 304 ~ 45 WA/D45-G2 14
satin 50 WA/D50-G2 14 buk (beech) 9
42 D/D42-G2 14 20 7
45 WD/D45-G2 14
dub (oak) 50 WD/D50-G2 , 14 22 9
L
H
Quality  Finish D art. %) L
42,4 A20/0729-042-R 38,5 30 ! V
07/13 =brus/satin K320 &3 lesk/polish



| end caps

sh

| 8 A/0221-008
10 A/0221-010
12 A/0221-012
14 A/0221-014
16 A/0221-016

12 A/0221-012-L

AISI316

20
20
20
20
25

20
20

18,5
17,8
16,5
21,6

w ;o N

Quality D art. @ L H
20 WB/D20-d8 8 19 9

buk(beech) 20 WB/D20-d12 12 18 8
/\"\) 20 WD/D20-d8 8 19 9
dub‘({,ak) 20 WD/D20-d12 12 18 8

o 12 A14/0221-012-L 20
polish o~
H
.
@
rt.
ISR = 12x1,5 A10/0010-012 3 10 A10/0015-010 1215 5
atin - 12 A10/0015-012-A 15 15 5
14 A10/0015-014 16 15 5
16 A10/0015-016 18 20
12 A10/0015-012-L 14 15 5
12 A14/0015-012-A 15 15
H L
—r=—
@ @
/AN
/BN oo
P
[ ¢
s 1 2
16x 1,5 A10/16-PVC-L 3
chrome
%T,_T_e
=t
@
@
33.7x2,0 A9/33-PVC 5 10x 1,5 A10/10-PVC 3,5
12x1,5 A10/12-PVC 3,5
@ 42,4x2,0 A9/42-PVC 5 14x1,5 A10/14-PVC 5
48.3x2,0 A9/48PVC 5 16x 1,5 A10/16-PVC 5
07/13 67

=brus/satin K320 £3 lesk/polish



end caps

Quality Finish art.
A/1732-033 4
A/1732-040 4
A/1732-042 4
A/1732-048 4
A/1732-050 4
A/1732-060 4
4
4
4
4

= (I

Y]
[=5

- A/1734-040 40x40 4

AISI304 SG
Y A/1734-040-L 40x40 4
polish

AISI 304

A/1732-080

A/1732-042-L
A/1732-048-L
AJ1732-050-L

M

;/

=)
e

solid hollow
art. .

20 A/0220-020 6 50 A/0220-050-R 8

25 A/0220-025 6 - 60 A/0220-060

30 A/0220-030 6 satin 80 A/0220-080 12
8
8
6

Iy

A0

[
Y]
=5
=]

40 A/0220-040 80 A/0220-080-R 10
50 A/0220-050

20 14/0220-020

AISI316
S

o
=
3

N
\t

d
= 55 A/0220-255 7,5 3 225
satin 80 A/0220-280 7,5 3 40
AISIS04 () 55 A/0220-255-L 7,5 3 22,5
polish 80 A/0220-280-L 7,5 3 40

68 07/13 =brus/satin K320 &3 lesk/polish



I spiral FLEX system

t
______ > A/3501-042 PR
M
O s AISI304 IS 42,4x2  A6/42-62 25
\ / satin
L ‘a
" -v A/0501-042
\\‘,,——"" + ”I'r‘fl
. AT
PR \ « 2,
Ny @
& C
. {J} bkl <5fin | Y24x2 A/3501-042 38 20 12
. A S A NS
1 \ A/42,4x2
| ; ¥ E ‘ D ‘ ‘ D
! v \ d_—= 4
! £ N Lo | Lo
' \ A/0501-042 L 1 L d
\ . - A/0501-042-R A/0501-042
\‘ g +
. =W 42,4x2,6 A/0501-042 60 12,5
\ by AISISO% satin | 42,4x2 A/0501-042-R 62 12,5
' Zn M
\\\ 'DIN-975 M12
SB/AA-L B +
¢ MD
'A/0731-060
AISI304 = 60 A/0731-060 12
satin
\ spiral FLEX segment
i
o
© o
é =
£ &
Il
®
_ Vv
D PN
Quality Finish art. D M ---eeenn R .’/ \}
=  sB/AB 43 12 T )
satin St o)
©
% =
ﬁ/ AR =
Quality  Finish _art. L d ;' .
§. SB/AALL 45 13 T B \\\ Quality Finish art. D
satin ' N =
o ‘ e 'Y Als1304 139
Al | |
| | !
| | '
| | 1
| | B
| | "
T oA f
~ H
S !
N 1
T :
& )
2 -
_ Vv Pees
Quality  Finish art. F M —
= SB/AS | 42,4x2 12
satin
07/13 69

=brus/satin K320 £3 lesk/polish



flanges and base covers B

A/3507-042

A6/90x00x13-S

A6/42-20-B

A/0940-042-N

A/0512-012

A6/004-6

=brus/satin K320 &3 lesk/polish

A/0942-242

07/13



\ flanges and base covers

=

o

o

Quality

%] D b
33,7 A/0512-033 105 25

%,

D b

42,4 A6/90x42x13-S 90 15

=) 33,7 A/0512:033-B 105 25 AISI304 )
satin . 42,4 A/0512-042 105 20,5 satin = 4> 4 A6/90x42x13-B 90 14
ms,a A/0512-048 105 18
© 42,4 A/0512-042-L 105 19
polish 48,3 A/0512-048L 105 18
A14/0512-042 105 20
AISI316 A14/0512-048 105 18
A14/0512-042-L 105 18
% 2
b b
D I D d
%) art. D b D b
o 42,4 A6/018-042 9710 42,4 A/0515-042 76 13
satin | 453 A6/018048 97 10 AR = 42,4 A/0515-042-B 75 14
AISI304 <= satin | 42,4 A/0516-042 87 11
° 42,4 A6/018-042-L 97 10 42,4 A/0516-042-B 85 15
polish 433 Ag/018-048-L 97 10
Iy
I(‘ ,II
b S A b
D ‘ D
2 D b t ity  Fini D b
= 12 A/0514-012 45 12 15 A6/90x00x13-S 90 12
AISI304 & -
satin 15> A/0514-012-B 45 12 1 A/0512-000 105 18
(DQ,
1
=brus/satin K320 &3 lesk/polish 07/18

71



flanges and base covers \

—

D1
b
_Qu: @
33,7 1A/0940-033-N =Wl c3,7 A6/85x33x68 85 9 56 6
42.4 A/0940-042-N 100 10,5 74 PYSERIY satin |04 A6/85x42x6S 85 9 56 6
48,3 A/0940-048-N 120 10,5 96 - 42.4 A6/85x42x5B 85 85 60 55

- 42,4 A14/0940-042-N 100 11 74

%)
- d
/‘""‘\/ /d
/ D1 ’ 01\ L e—
I D d
D
D d D1t
astin | 424 A6/100x42x6-S 100 11,5 62 6 esin  A6/85x00x6S 85 83 64 6
D
d
D
D1
Finish 14 D A
O = o500 100 12 75 7 A/1732:033 33 4
satin A/1950-100-B 100 11 70 55 A/1732-040 40 4
_ A/1732042 42 4
otn  A/1732048 48 4
AISI304 A/1732-050 50 4
A/1732-060 60 4
A/1732-080 80 4
A/1732-042-L 42 4
oy A/1732048L 48 4
> A/1732-050L 50 4

72 07/13 =brus/satin K320 &3 lesk/polish



| flanges and base covers

%)
%]
"\ /!
D D
Q YN D d % D H hi d
33,7x2 A/0942-233 INSELY S | 42.4x2 AB/42,4x2-R 100 70 40 12
AISI304 satin
42,4x2 A/0942-242 100 9
N &
(]
- &
= — +
]
d A20/0790-042-R A/0302-242
H1 :/
T D J
I —1
D Hi H2 d
— A6/85x42x6-S A20/0790-042-R A/0302-242
LOENEY oain | 424x2 A/0945242 85 47 27 9

: 0-

Quality art. M H d D
A6/80x5-M16 16 99 6,8 80

zinc

Sbrus/satin K320 &3 lesk/polish ois 73



AISI316

42,4 A6/021-6-A 100 50 10,5
48,3 A6/023-6-A

ish 4244 A6/021-6-L 100 51 11

G ‘42,4 A14/021-6-A 100 50,5 10

%

AISI304
S

S
=

%) D s d

42,4 A6/2x42 120 40 11

=3

INCIELYY  satin

o

polish

2
XD

D s d
42,4 A6/42 100 40 M1

14
o
=
S

AISI304
S

42,4

2

flanges and base covers |

Lxb s d
A6/004-6 119x60 51 11
A6/004-6-L 119,5x60 51 11

%) Lxb s d

42,4 A6/42-180x70 180x70 40 11

p

(%) Ve H s bi

R 42,4 A/3507-042 16 35 50

>
I

A6/85x42x6-S

A/0301-242 !j"))

4

07/13

=brus/satin K320 &3 lesk/polish



\ flanges and base covers

Quality  Finish (%) art.
AISI 304'% 42,4-50 A6/48 100 51 10,5 70

¥ \\SF /M s
~ S8
RN %}
KO /
a/ o
o/
a/
d M
& 42,4 A6/42-20-B 31 307710
M satin

42,4 A6/42-20 39 20 10

I k
=l

in

Iy

\ baluster brackets accesories

L

42,4 A/012-120 20 120

.

AISI304
S

[
B
3

AISI304 = 42,4 A/012-45 20 45
satin

07/13 75

=brus/satin K320 £3 lesk/polish



A/4718-042 A/4111-000 |
A/4301-040 |

A/4940-040

=brus/satin K320 &3 lesk/polish

/6

07/13



Pl
Qus
sa%‘ 42,4 A/4T18-042 79  40x40x2 sfin A/4718-000 81  40x40x2
/ ’
H H
el Vz
art. H P
PUSELPN S 424 A/4710-842 79  40x40x2 INCEYN = A/4710-800 81  40x40x2
satin satin
b
h

L

Qualit
AISI304 IS

h
A/41

) bxh

art.
11-000 90x44 40x60 8

PYSELPN = 404 A/4111-042 92x50 40x60 8
satin
&
(b))
A-DIN 7991-A2 M6x8
+
M1 A/1800-0.. A/1800-000 A/1890—0£ A/1890-000
/ +
H
; A/4812-068
/M +
| 0-
N 1
GO i, A/4812:068 14x14 68 6 10 RS Z080 SAEE080)
07/13 77

=brus/satin K320 £3 lesk/polish



flush angles, end caps, connectors

H
H
A
S A
Qualit
AISI304 % 40x40x2  A/4301-040 25 AISI304 % 40x40x2  A/4302-040 26
satin satin
H
e
“
a
b
Fi Jol art. H

D
B .o wouoe aarszomn 4
sati

= A/1734-040 40x40 4
atin

©  A/1734-040-L 40x40 4
polish

S

an
\

Quality  Finish
AISI304 s‘?ﬁn 40x40 A/4505-040 95x95 29 5 = 40x40x2 | A/4790-040 4

crossbar holders \

] /er '\1

J
A

a

il s P y
10x10 A/4810-000 20x 16 20 AISI304 saétin 10 A10/4023-012 23

10x10 A/4810-000-B 31x22 22

15x5 A/4821-000 25x25 24

15x5 A/4822-000 25x25 25 left
15x5 A/4823-000 25x25 25 right

\Z

(D

[
o
=
=]

AISI304 = 10x10 A/4010-012 75
satin

07/13 =brus/satin K320 &3 lesk/polish



\ flanges, covers and brackets

.- -
\\# ~

‘40X40 A/4511-040 110x110 25 AISI304 saétin A/1980-100 100x100 6,2 11

o. 40x40 A/4511-040-L 108x108 25

Q Quality art.

axb d
AISI304 - 40x40 A/4940-040 100x100 11 A6/95x95x5-M16 16 99 6,8 95x95

) R

o
=1

AISI304 sg'n 40x40 A/3507-040 16 35 50

A6/005-4W 120x60 45 11

8
=
5

ét. A6/005-4 120x60 51 11
AISI304 BRIy

polish

(+)

A6/005-4-L 120x60 51 11

07/13 79

=brus/satin K320 £3 lesk/polish



accessories

Quality Art. AISI304 | AISI316 @ M(mm) L/d (mm)
Zinc M %)}
A-DIN 914-A2 M5x5 v/ 5 5 \L
A-DIN 914-A2 M6x6 4 6 6
A-DIN 7991-A2 M5x16 v 5 16 ¢
A-DIN 7991-A2 M6x8 4 6 8 Q8/DRILL-3,25
A-DIN 7991-A2 M6x10 v/ 6 10 A-DRILL-M5 4 Q8/DRILL-4
HSS-G Q8/DRILL-5
A-DIN 7991-A2 M6x12 v/ 6 12 Q8/DRILL-6,5
_ A4-DIN 7991 M5x16 v 5 16 Q8/DRILL-8
A-DIN 7380-A2 M5x12 v 5 12
A-DIN 7380-A2 M6x12 v/ 6 12
A-DIN 7380-A2 M8x20 v/ 8 20
A-DIN 7380-A2 M10x20 v 10 20 Q8/SCREW-M5  Q8/DRILL-4
‘ s 1 s QYSCHENMe onoms
A4-DIN 7380 M8x20 v/ 8 20 Q8/SCREW-M10 Q8/DRILL-8
A-PH 5x20 v 5 20
A-PH 5x35 v 5 35
UV 5/35 ZH 4 5 35
UV 5/40 ZH 4 5 40
A-DIN 7337-A2 4x20 4 - 20/4
A-DIN 125-A2 M5 7 5
A-DIN 125-A2 M6 v/ 6
A-DIN 125-A2 M8 v 8
A-DIN 125-A2 M10 v/ 10 A/40580-1
A-DIN 125-A2 M12 v/ 12
A-DIN 1587-A2 M6 v o EEEEEEEEEEEEEEEEER
ADIN 1587-A2M8 8
A-DIN 1587-A2M10 10
A4-DIN 1587 M10 7 10 =
A-DIN 934 M6 v/ 6 EEEEEEEEEEEEEEEEERN
A-DIN 934 M8 v/ 8
L 4 < B 4 & www.umakovshop.com
A-DIN 934 M12 v 12 ]
A4-DIN 934 M10 4 10
A/FTT-M5 v 4
A-DIN 975 M6 v 6 1000
A-DIN 975 M8 v 8 1000
A-DIN 975 M10 4 10 1000
A4-DIN 975 M10 v 10 1000 |
Q5/06-8x92CE 4 8 92 descriptio
Q5/06-10x92CE v 10 92 Q10/WD40-100  100ml
Q10/WD40-240 240ml
Q5/06-10x112CE 4 10 112
Q5/06-12x103CE v/ 12 103
Q5/06-12x118CE 4 12 118
Q5/06-12x128CE 4 12 128
Q5/06-16x123CE v 16 123
Q5/06-16x138CE 4 16 138
Q5/08-FH12-50 / 8 q25/12 Q8/79
Q5/08-TNTRO8-8x52 v 8 52/12
Q5/07-8 NYLON 40/8
Q5/07-10 NYLON 50/10 A19/2,5 M5
Q5/07-12 NYLON 60/12 L/ M6
A19/27-M6 v/ 6
A19/27-M8 v/ 8
A19/27-M10 v 10
WOOD/D14x40 40/14
WOOD/D20x100 100/20 A19/model746-747
WOOD/M5-D 5
WOOD/M6-D 6
WOOD/M8-D 8
WOOD/M10-D 10 Q8/77  adjustable
07/13

80

=brus/satin K320 &3 lesk/polish



accessories

500 A/spray-A 400
A/spray-A-vosk 400
A/spray-WS 400

A/Cleaner-500mi
{
wood

www.umakovshop.com

abrasive fleece

Q1/Go1

Q1/G02 abrasive rubber

art.
A/GLUE-10g W/glue-25g
A/GLUE-20g
A/GLUE-509g
description
Q1/RNO1-125x1 cutting disc Q1/L01-125-40 flap disc Q1/SNO01-125-120 selfsticking disc
Q1/L01-125-80 flap disc Q1/SN01-125-80 selfsticking disc
Q1/L01-125-120 flap disc
. 0
Q5/01TK-300 gg;g}giigg :grg: 288 m: -ggog Q5/05TR-310 310ml seal transparent Q5/04 M17, h215mm
Q5/01TK-400 Ll L
Q5/01FIS-300
Q5/01FIS-400
Q5/03-300SP2  300ml, hobb -
’ Y Q5/03-400 400ml, profi Q5/02 D60, 275/225mm Q5/09-12 D12, L300/100mm
1
Q9/03-6 both sides Q8/11 bending machine 3D Q8/14-P adapter
=brus/satin K320 &3 lesk/polish 07/18 81



Art.

SV-60x60inox-
clasic

- 4

H8/34-4-60x60

Description

INOX , set profile
60x60mm,
Lém

INOX ,profile 60x60

H8/02-60x60

H8/40-60x60

H8/14N-60x60

H8/15P-60

H8/15P-80

H8/01-30x8H

v2/47

INOX , profile

60x60x3mm, L6(3)m

post box

INOX , profile
60x60mm

INOX , profile
60x60mm

INOX ,profile
60x60mm

INOX , profile
80x80mm

INOX ,30x8mm,
L1m, max 1900kg

gates, accessories \

Art. Description Art. Description
INOX ,M16,
D8/53-M16 80x80mm H8/39U-COMUNELLO
INOX .M20, INOX, L3m
D8/53-M20 100,100
x100mm 2891-G-D19-Sp2
D8/22-M16 INOX ,M16
H8/06U-80-
COMUNELLO
D8/22-M20 INOX ,M20 INOX, D80mm
3101-80S
D4/51-55x75 INOX H8/06U-90-
COMUNELLO
INOX,D90mm
3101-90S
D4/51-75x100 INOX
H8/38U-90-
COMUNELLO
INOX, D9Omm
3371-90S
B8/40 INOX
H8/39V-COMUNELLO
INOX, L3m
293
B8/41 INOX
H8/06V-80-
N COMUNELLO
INOX, D80mm
3001-V80
D8/01 INOX
| H8/38V-90-
COMUNELLO
INOX, D9Omm
D8/02 INOX, D18mm 335l-V90
H8/04-30-
COMUNELLO
INOX, D30mm, white
D8/03 INOX
2301-30
INOX
B8/32 ’
/ 158x130mm
SV-83x79-AL-
COMUNELLO

A/NUM-... house number

82

07/13

=brus/satin K320 &3 lesk/polish



applications

83

07/13

lesk/polish

o
W

Sbrus/satin K320



glass SystemS

lesk/polish

o
W

Sbrus/satin K320

07/13

84




sale support

5,08 €

Art. Art. Art.
KAT-FORGED-2013 KAT-GLASS-2013 KAT-GATE-2012/13

ON-LINE PRICES

——
istenie cien on-line pomocou mobilného telefénu
eck prices on-line using your mobile phone
Art. Art. Art. T — Art.
RP-INOX-03-2012 RP-INOX-GLASS-03-2012 RP-GLASS-SYSTEMS-4-2013 TETINOXA-11-2012 LET-IN
Art. Art. Art. Art. Art. Art. Art.
PNL/AO1 PNL/A20 PNL/ASM1-02-11 PNL/A5-02-09 PNL/A6-05-10 PNL/DREV-07-10 rek-case-inox

07/13



HEADQUARTERS

* Slovakia, FRICOVCE 309, 082 37, tel +421 51 7911 491, gsm +421 905 681 337, fax +421 51 7492 881
umakov@umakov.sk, www.umakov.sk

mcz _ |EEpL

*BRATISLAVA

R1 Centrum (Roznavska 1)
ba@umakov.sk

tel 0917 739 412

Skype umakov.ba

* BANSKA BYSTRICA
Kremnicka 71
bb@umakov.sk

tel 0905 304 548

Skype umakov.b.bystrica
*KOSICE Ludvikov Dvor 410
ke@umakov.sk

tel 0908 362 090

Skype umakov-ke
*PARTNER SK

fence.sk

*PRAHA

Drahobejlova 34, Liben
praha@umakov.cz
tel+420 731 733989
*BRNO

nam. Osvobozeni 63,Ri¢any
brno@umakov.cz

tel +420 608 743164
*Hradec Kralové
Prazska tfida 691
hk@umakov.cz

tel +420 778 001 899
*Ostrava

Plynami 19, Ostrava-Privoz
ostrava@umakov.cz

tel +420 775 061 735
*Plzen

plzen@umakov.cz

tel +420 775 455 079

* Umakow Zabrze

ul. A. Pawliczka 27A, 41-800,

Zabrze

umakow@umakow.pl

tel/fax: +48 3220 21929

tel. kom.: +48 517 534197

+48 500 110199

Skype umakow.pl1
umakow.pl2

* UMAKOVPACK SK

- hurtowa sprzedaz

elementykute@umakow.pl

umakovpack@umakovpack.

com

tel/fax: +48 616 231 803

tel. kom.: +48 510 696 236

Skype umakow.pl3

=ty |

*BUDAPEST

UMAKOV Kit.

1239 Budapest, XXIII. ker.
Grassalkovich Ut 294
www.umakov.hu
hungary@umakov.hu
mobil +36 30 6446 653
tel +36 1 2890 628

fax +36 1 2890 629
Skype umakov.hu

ENG

www.umakovshop.sk
order@umakovshop.com

Skype umakov.order
tel +421 51 7911 491
gsm +421 905 681 337
fax +421 51 7492 881
VolIP +421 650 405 126

www.umakovshop.cz
brno@umakov.cz
Skype umakovbrno
+420 608 743164
praha@umakov.cz
+420 731 733989
VolIP +420 212 240 751

www.umakovshop.pl
umakow@umakow.pl
Skype umakow.pl1
tel/fax: +48 3220 21929
kom.: +48 517 534197
kom.: +48 510 696 236
VolP +48 616 231 803

www.umakovshop.hu
hungary@umakov.hu
Skype umakov.hu
+36 306 446 653
tel +36 1289 0628
fax +36 1289 0629

www.umakovshop.com

info@umakovshop.com

Skype umakov.business
+421 915 965 141

www.umakovshop.com
info@umakovshop.com
Skype umakov.cooperation
+421 907 684 761

LOGISTIC

logistic@umakovshop.com
tel +421 917 204 201
Skype umakov.logistic

TECHNICAL

GATES /

AUTOMATIONS

GARAGE DOORS

FENCES
%

CUSTOM
PRODUCTION

WORKSHOP/
HOME/GARDEN

= SK

inox@umakovshop.com
tel +421 908 994 153
+421 915 929 972
+421 910 262 707
Skype: umakov.inox

glass@umakovshop.com

tel +421 910 262 707

+421 908 994 153
Skype: umakov.glass

objednavky@umakov.cz
praha@umakov.cz
Skype: umakov.prahat

wood@umakovshop.com

tel +421 915 929 972

+421 908 994 153
Skype: umakov.wood

umakov.praha2
gsm: +420 731733989
tel/fax:+420 242 486420

+420 230 234772

stairs@umakovshop.com
tel +421 918 840 356
+421 908 986 081

Skype: umakov.production

forged@umakovshop.com
tel +421 905 304 549
+421 905 681 337
+421 907 684 761
+421 911 080 260
Skype: umakov.forged

brno@umakov.cz
aukro@umakovshop.com
Skype: umakovbrno
umakov.brno.2
tel: +420 608 743 164
+420 774 533 989

automations@umakovshop.com
gates@umakovshop.com

Gate acc. +421 907 317 312
CAME +421 907 317 312
NICE +421 917 213 664
KEY +421 915 093 533
ROLLKIT +421 915093 533
Skype: umakov.automations
Skype: umakov.gates

fax: +420 226 015 066

hk@umakov.cz
+420 778 001 899

garage@umakovshop.com
tel +421 915 093 533
Skype: umakov.garage

fences@umakovshop.com
tel +421 917 213 664
Skype: umakov.gates

plzen@umakov.cz
+420 775 455 079

production@umakovshop.com
tel +421 918 840 356
Skype: umakov.production

ostrava@umakov.cz
+420 775 061 735

tools@umakovshop.com
tel +421 911 080 260
Skype: umakov.tools

sales@umakov.cz
+420 608 313 799

umakow@umakow.pl
Skype: umakow.pl1
umakow.pl2
umakow.pl3

tel/fax: +48 3220 21929

kom.: +48 517 534197

+48 500 110199

+48 510 696236

com

[=]4T5

umakovpack@umakovpack.

hungary@umakov.hu
Skype: umakov.hu
+36 1289 0628
+36 306 446 653

CZ

° Jihlava
&. Budgjovice

info@umakovshop.com
Skype: umakov.business
tel: +421 51 7911 491
gsm: +421 915 965 141
fax: +421 51 7492 881

info@umakovshop.com
Skype:umakov.cooperation
tel: +421 51 7911 491
gsm: +421 907 684 761
fax: +421 51 7492 881

[ ]
.I'rsném B. Bystrica

.PK Nl‘tm SK olLC

Brahslava oz

A 28 u

umakov@umakov.de
Skype:umakov.cooperation
tel: +421 51 7911 491
gsm: +421 907 684 761
fax: +421 51 7492 881

makov

1993-2013

www.umakovshop.com






